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The following table shows the details about money invested (principal) in a bank at a certain rate of interest for a given
period of time by six different male persons A-F, alongwith with the amount received (in ). Some values are missing in
the table (indicated as'_') that you are expected to calculate if required. Based on the data in the table, answer the

questions that follow.

Person-wise Details of Money Invested

Person

Rate of Interest

(%)

Time

(In years)

Principal

n3)

Amount Received

%)

6%

18000

6%

30000

29000

43000

m| o | m| =

8%

20000

F

60000

Note: Calculate simple Interest unless spacified.

Sub questions

Question Number : 1 Question Id : 22742724154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the rate of interest received by Aand C is in the ratio of 2:3, then the money invested by C will get doubled in

years.
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Options:

22742794101.1

22742794102. 2

22742794103. 3

22742794104. 4



Question Number : 2 Question Id : 22742724155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the difference between the interest received by E and B is < 4200 and E invested his money for double the time period for
which B invested his money, then the amount received by E is

1.330,000

2,326,600

3.329600

4.335400
Options:
22742794105. 1
22742794106. 2
22742794107.3

22742794108. 4

Question Number : 3 Question Id : 22742724156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the amount received by C is twice the money invested by him, then the amount he will receive after 2 years if he invests the
same sum of money in compound interest for 2 years compounded half yearly, is

Options:

227427941009. 1
22742794110. 2
22742794111. 3
22742794112. 4



Question Number : 4 Question Id : 22742724157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is 20% of the sum invested by him then how much more money as interest he would have eamed if
he had invested the money in compound interest?

1.3700

2.3600

3.3300

4.3400

Options :
22742794113. 1
22742794114. 2
22742794115.3

22742794116. 4

Question Number : 5 Question Id : 22742724158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is < 7,575 mare than the interest received by D and the rate of interest received by F is 2% more
than the rate of interest recieved by A, then the interest rate received by D is

Options :

22742794117. 1
22742794118. 2
22742794119. 3

22742794120. 4



Question Id : 22742724153 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742724154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794101. 1
22742794102. 2
22742794103. 3
22742794104. 4

Question Number : 2 Question Id : 22742724155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.330.000

2.328600

3.329.600

4 335400
Options :
22742794105. 1
22742794106. 2
22742794107. 3

22742794108. 4

Question Number : 3 Question Id : 22742724156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



tﬁcmwrﬁrmmﬁmw "m%mzaﬁma@m&mmﬁuﬁaﬁmawmw
R TG o &1 &3 8 2 98 b fold Faa el
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432199245
Options :
227427941009. 1
22742794110. 2
22742794111.3

22742794112. 4

Question Number : 4 Question Id : 22742724157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.3700

2 3600

3.3300

4 3400

Options :
22742794113. 1
22742794114, 2
22742794115. 3

22742794116. 4

Question Number : 5 Question Id : 22742724158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794117. 1
22742794118. 2
22742794119. 3

22742794120. 4

Sub-Section Number : 2
Sub-Section Id : 227427947
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 22742724159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which element of cooperative learning talks about 'sink and swim' together?

1. Individual accountability
2. Promotive Interaction

3. Positive interdependence
4 Group processing

Options :

22742794121. 1
22742794122, 2
22742794123. 3

22742794124. 4

Question Number : 6 Question Id : 22742724159 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794121.1
22742794122. 2
22742794123. 3

22742794124. 4

Question Number : 7 Question Id : 22742724160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Canva is an online tool used to prepare creative content in the form of poster, infographics, presentations etc
Statement (II): Edpuzzle is an online tool used for creating interactive videos.

Inlight of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (Il) are correct.

2 Both Statement (1) and Statement (II) are incorrect
3. Statement (1) is correct but Statement (II) is incorrect
4 Statement (1) is incorrect but Statement (II) is correct

Options :

22742794125. 1
22742794126. 2
22742794127.3

22742794128. 4



Question Number : 7 Question Id : 22742724160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794125. 1

22742794126, 2

22742794127. 3

22742794128. 4

Question Number : 8 Question Id : 22742724161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the charactertistics of mental development of Adolescents?
(A). Increased ability to generalise the facts

(B). Development of memory and imagination

(C). Decreased ability to deal with abstraction

(D). Decreased ability to understand

(E). Increased ability to solve problems

Choose the correct answer from the options given below:

1.(C), (D) and (E) only
2. (A), (B)and (E) only.
3. (A), (C)and (D).

4 (C)and (D) only.
Options :
22742794129. 1
22742794130. 2
22742794131. 3

22742794132. 4

Question Number : 8 Question Id : 22742724161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794129. 1
22742794130. 2
22742794131.3

22742794132. 4

Question Number : 9 Question Id : 22742724162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In which approach the teacher presents a puzzling situation and students solve the problem by gathering data and testing their
conclusions?

1. Discovery leaming
2. Latent leaming

3. Situated leamning
4. Inquiry learning

Options:
227427941331
22742794134. 2

22742794135. 3



22742794136. 4

Question Number : 9 Question Id : 22742724162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742794133, 1
22742794134, 2
22742794135. 3

22742794136. 4

Question Number : 10 Question Id : 22742724163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(iven below are two statements:

Statement (1): The long-term memory for information tied to & particular time and place, especially memory of the events in a
person's life Is called as Implicit Memory

Statement (1): The knowledge that we are not concious of recalling but that influences our behaviour or thought without our
awareness is called as Episodic Memory.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) s true but Statement (11) is false.
4. Statement () s false but Statement (If) Is true.



Options :

22742794137. 1
22742794138. 2
22742794139. 3
22742794140. 4

Question Number : 10 Question Id : 22742724163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427941371

22742794138. 2

22742794139. 3

22742794140. 4

Question Number : 11 Question Id : 22742724164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (I): In Cross- Sectional research, a researcher studies the same population over time.

Statement (I1): In retrospective study, a researcher relies on people's memories and recollections of the past.
In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement () and Statement (1) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (I1) is true.

Options :

227427941411
22742794142. 2
22742794143.3
22742794144. 4

Question Number : 11 Question Id : 22742724164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794141.1
22742794142. 2
22742794143.3

22742794144. 4



Question Number : 12 Question Id : 22742724165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In naturalistic observation, the practice of dichotomous recording whether a behaviour occurs or not, constitutes

1. Cluster sampling

2. Time-interval sampling

3. Onelzero sampling

4. Continuous real-time sampling
Options :
22742794145. 1
22742794146. 2
22742794147.3

22742794148. 4

Question Number : 12 Question Id : 22742724165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794145. 1
22742794146. 2
22742794147. 3

22742794148. 4

Question Number : 13 Question Id : 22742724166 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1) According to UGC Regulations 2018 on plagiarism, the authorities of a higher education institute cannot take suo
moto notice of an act of plagiarism.

Statement (II): Plagiarism means the practice of taking someone else’s work or idea and passing them as one's own.
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are comect.

2. Both Statement (1) and Statement (II) are incorrect.
3. Statement (1) is correct but Statement (Il) is incorrect.
4 Statement (1) is incorrect but Statement (Il) is correct.

Options:

22742794149. 1
22742794150. 2
22742794151.3

22742794152. 4

Question Number : 13 Question Id : 22742724166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742794149.1
22742794150. 2
22742794151. 3

22742794152. 4

Question Number : 14 Question Id : 22742724167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a perfect normal distribution, the median would be equal to which of the following measures?
(A). Second quartile

(B). Mean

(C). 50! percentile

(D). Mode

(E). 5™ decile

Choose the correct answer from the options given below

1. (A), (B) and (C) only.

2. (A), (B)and (D) only.
A), (B), (C) and (D).

4 {AL (B), (C) (D) and (E).

Options :

22742794153. 1
22742794154. 2
22742794155. 3

22742794156. 4

Question Number : 14 Question Id : 22742724167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794153. 1
22742794154. 2
22742794155. 3

22742794156. 4

Question Number : 15 Question Id : 22742724168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For which of the following p-value of a test statistic, a null hypothesis is likely to be rejected?
(A). 0.38 of 2%

(B). 38%

(C). 2%

(D). 0.46

Choose the correct answer from the options given below

1. (A) and (B) only
2. (A)and (C) only
3. (B) and (C) only
4. (B) and (D) only
Options :

22742794157. 1
22742794158. 2
22742794159. 3

22742794160. 4

Question Number : 15 Question Id : 22742724168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742794157. 1
22742794158. 2
227427941509, 3

22742794160. 4

Question Number : 16 Question Id : 22742724169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, the Indian rhetoric, in its Hindu and Buddhist forms, has a/an

1. Materialist basis

2. Ethical basis

3. Euro-centric basis
4 Non-religious basis

Options:

22742794161. 1
22742794162. 2
22742794163.3

22742794164. 4



Question Number : 16 Question Id : 22742724169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742794161. 1
22742794162. 2
22742794163. 3

22742794164. 4

Question Number : 17 Question Id : 22742724170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The paradoxical relationship between body and mind in a communication environment results in

1. Mindfulness

2 Self-importance
3 Obedience

4 Humour

Options :

22742794165. 1
22742794166. 2
22742794167. 3

22742794168. 4

Question Number : 17 Question Id : 22742724170 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794165. 1
22742794166. 2
22742794167. 3
22742794168. 4

Question Number : 18 Question Id : 22742724171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are essential components of dialegic communication, according to Richard Johannesen?
(A). Afacade of pleasant greefing

(B). possessive warmth for others

(C). Empathic understading

(D). Spirit of mutual equality

(E). Positive regard for others

Choose the correct answer from the options given below:

—

A), (B) and (C) only.
B) (C) and (D) only.
C)(D)and (E)

A), (D) and (E) only.

1.
2
3

— —

)
)
)
4 (A)

o,

Options :
22742794169. 1

22742794170. 2



22742794171.3

22742794172. 4

Question Number : 18 Question Id : 22742724171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794169. 1
22742794170. 2
22742794171. 3

22742794172. 4

Question Number : 19 Question Id : 22742724172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The non-verbal communication is studied across which of the follwing disciplines?
{A). Physics

(B). Chemistry

(C). Linguistics

(D). Social psychology

(E). Anthropology

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B) (C)and (D) only.
3. (C), (D), and (E).

4 (A), (B) and (E) only.
Options :
22742794173. 1
22742794174. 2
22742794175. 3

22742794176. 4

Question Number : 19 Question Id : 22742724172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafeiad faugl 5 ¥ fo-16- 8§ TR-2isad YaR &I 8- [l |ar g2
A. HildH IR

B. TUTHARIRA

C. HIuTERHE

D. GHEIS® HIfaTH

E. AH4RIE
-d feu U famedl § § 999 IUgdd Itk &1 94 BIeld:

1. BadA B3R C
2 ®dd B, C AR D
3. ®add C, D3RE
4 HAAA B3ARE

Options :

227427941731
22742794174. 2
22742794175.3
22742794176. 4

Question Number : 20 Question Id : 22742724173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Every communication contains elements of both content and relationships.
Statement (I): Eye behaviour provides metacommunicative cues.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) i1s true but Statement (1) 15 false.
4 Statement (1) is false but Statement (I1) is true.

Options:



22742794177.1
22742794178. 2
22742794179. 3

22742794180. 4

Question Number : 20 Question Id : 22742724173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- Ude YaR H fqugasq 3R &t gHl & dd [dgH9H 8d |

Y |- HEf & TdeR 4 WHIR! Yad Had £

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. ®YF | MR I T &

2 Y| AR I GHf T 8

3. PYF | I §, dichd DY 11 3T B
4 DY | AUT T, Afh-T HYT | G &
Options :

22742794177. 1

22742794178. 2

22742794179. 3

22742794180. 4

Question Number : 21 Question Id : 22742724174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the correct sequence of five (5) missing letters which will complete the following letter series
daa bc cda a c c

1.a. bacb

2 a,.eb.a¢

3 #6.8.b¢

4 3,¢a,cb

Options:

22742794181. 1
22742794182. 2
22742794183. 3

22742794184. 4

Question Number : 21 Question Id : 22742724174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ui (5) T H&R[ @1 Ug) 5 T & o FHafeifed aul-saet ot 81 <l daa_bc_cda_a ¢ c
1a,b,acb

2 aebac

3 @, 6.8, b,

1 A cach

Options :

22742794181. 1

22742794182. 2

22742794183. 3

22742794184. 4



Question Number : 22 Question Id : 22742724175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If in a scheme. the word 'FATHER' is coded as 104", how the word 'MOTHER' will be coded in the same scheme?

1.104

Options :

22742794185. 1
22742794186. 2
22742794187.3

22742794188. 4

Question Number : 22 Question Id : 22742724175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

ft foel T & FATHER' 1104 o &0 H oot oo 71 3, ol 3t 2151 § MOTHER' Tec, 1 8 doefad fodl aIeAT?

1.104

2.83

3.87

4.102

Options :
22742794185. 1
22742794186. 2
22742794187. 3

22742794188. 4

Question Number : 23 Question Id : 22742724176 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Acircle has the diameter same as the length of the side of an equilatral triangle. What is the ratio of their respective areas?

11:
2.92:
3 11;
4 11:

-
[ "l
-
i

= S

[

< i

P

Options :

22742794189. 1
22742794190. 2
22742794191. 3

22742794192. 4

Question Number : 23 Question Id : 22742724176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U6 30 &1 O AR U6 GHYS Bo o} U6 Yo 1 a%T 99H 8| 376 SAbal &1 Ui ol 8112

1.11:7/3
2.22:7/3
a1 et

Slsl

4 11:

Options :

22742794189. 1
22742794190. 2
22742794191. 3

22742794192. 4

Question Number : 24 Question Id : 22742724177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
An article is sold at a gain of 10%. Had it been sold for Rs. 26 more, the profit would have been 15%. The cost price of the
article is

1.Rs 480/-

2 Rs.500/-

3 Rs 510

4 Rs.520/-
Options :
22742794193, 1
22742794194, 2
22742794195. 3

22742794196. 4

Question Number : 24 Question Id : 22742724177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl e @110 %1 R o1 701 391G 38 39 oy 90§ <206 e R el 7 et 15 % M G2 il | %) @1 Pl 90

1.3480

2.3500

3.3510

4.3520

Options :
22742794193. 1
22742794194. 2
22742794195. 3

22742794196. 4

Question Number : 25 Question Id : 22742724178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The difference between the compound interest and simple interest on <10,000/- for 3 years at 10% per annum is

1.310

2.300

3.200

4.430

Options :
22742794197. 1
22742794198. 2
22742794199. 3

22742794200. 4

Question Number : 25 Question Id : 22742724178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

10 % It BI G Y 10000 W 3 9Y] & Tshdfe STd AR YR &S b HH R a1 82

1.3310

2.3300

3.3200

4.3 430
Options :
22742794197. 1
22742794198. 2
22742794199. 3

22742794200. 4

Question Number : 26 Question Id : 22742724179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following group of terms in order of increasing extension.
{A). Mammal

(B). Wildcat

(C). Feline

(D). Animal

(E). Vertebrate

Choose the correct answer from the options given below:

1. (B), (C), (A), (E), (D).
2. (D), (E), (A), (C), (B).
3. (D), (A), (E), (B), (C).
4. (C), (B), (E), (A), (D).
Options :

22742794201.1
22742794202. 2
22742794203. 3

22742794204. 4

Question Number : 26 Question Id : 22742724179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FEfeRad ee el &l 953y & ARG 71 H HaRyd SIfT :
A TTOEL

B. gfead

C. fasm

D. T

-id feu U foeedl & © 981 3R &1 99 DIt

1.B,C,AED
2D EACEB
3. DA E B, G
4 C,B,EAD

Options :

22742794201. 1
22742794202. 2
22742794203. 3
22742794204. 4

Question Number : 27 Question Id : 22742724180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"If you like ketchup and you also like icecream, then you would sure like ketchup icecream.” Which fallacy is committed in this
argument?

1. Ad Hominem

2. Hasty Generalisation

3. Slippery Slope

4 Fallacy of composition
Options:
22742794205. 1
22742794206. 2

22742794207. 3



22742794208. 4

Question Number : 27 Question Id : 22742724180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"G, 310 9 TG % 3 AR S0 SHZHHTH Ht GG e 2, o e 0 § i Mgt e il 9 G H o
T 37

1, o 9R19 5 e

2. HaNE FHRIEU
3. g B

4 Welaey
Options :
22742794205. 1
22742794206. 2
22742794207. 3

22742794208. 4

Question Number : 28 Question Id : 22742724181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which formal fallacy is committed in the following argument: "No politicians are idiots. Some voters are not idiots. Therefore,
some voters are not politicians."?

1. Exclusive Premises

2. Existential fallacy

3. Afirming the consequent
4. Denying the antecedent

Options :
227427942009. 1
22742794210. 2

22742794211. 3



22742794212. 4

Question Number : 28 Question Id : 22742724181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 4 B @ 91 SN G &l 2 oricn 98 ] ol 61 3 Farel 9 Te) o 51 39101, 39 Haal Toriioq

a8

1. TG LRI

) YWD Togy

3. B faYR-E

4. 3qdI Y QY
Options :
22742794209. 1
22742794210. 2
22742794211. 3

22742794212. 4

Question Number : 29 Question Id : 22742724182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Inductive arguments can only be stronger or weaker.

Statement (Il): Deductive arguments are either invalid or valid.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (II) are correct.

2. Both Statement (1) and Statement (I1) are incorrect
3. Statement (1) is correct but Statement (I1) is incorrect
4 Statement (1) is incorrect but Statement (I1) is correct

Options :



22742794213.1
22742794214. 2
22742794215. 3

22742794216. 4

Question Number : 29 Question Id : 22742724182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- AT gfGad! $ad €6 O HHIR &l 9ddl g

Y II: FRTHATES Tfeaal ar dl oy gidl & a1 3¢ gidl €|

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. PYFI AR NG gd g

2. YT | R || gHf SO &

3. ®YF | G &, Afted SYA 1| 3T ©
4 DY | AUT T, Afh-T HYT | G &
Options :

22742794213 1

227427942142

22742794215, 3

22742794216. 4

Question Number : 30 Question Id : 22742724183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the following arguments the reason is counterbalanced by another reason as per classical Indian school of logic
(Nyay)?

(A). All things are non-etemal, because they are knowable.
(B). Fire Is cold because it is a substance.

(C). Sound is eternal because it is produced.

(D). Sound is a quality, because it is visible.

Choose the correct answer from the options given below:

1.(B)and(C
2 (A)and (D)
3.(C)and (D]
4. (B)and (D) only.

only.
only.

)
D)
)
)
Options :

22742794217. 1
22742794218. 2

22742794219. 3

22742794220. 4

Question Number : 30 Question Id : 22742724183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T & YR QR <G A & S8R 5 H 9 foo gt 7 89 il 3 5q 3 foigfer 1 o 82
A GHT TG0 IR-T14d € i d 7B
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C. A A% 3 FMfe 78 Iaifed gt 3l

D. @ 701 8 Fifs a8 X4 3

HTd few e faded T a8 IUYH IR &1 98 DI

1 $3aB AR C
2 BATAIRD
3 %aa C AR D
4 $aaB ARD

Options :

22742794217. 1
22742794218. 2
22742794219.3

22742794220. 4

Question Number : 31 Question Id : 22742724184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): MyGov. is a platform through which Government of India aims to encourage citizen participation towards good
govemance by seeking their ideas and suggestions.

Statement (1): MyGov platform is developed by three of the former Flipkart executives to provide a cashless and seamless
payment experience.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) 1s true but Statement (I1) is false.
4 Statement (1) 1s false but Statement (1) is true.

Options:



22742794221.1
22742794222. 2
22742794223. 3

22742794224. 4

Question Number : 31 Question Id : 22742724184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y |- TR (MyGov) T U1 Hd 2 fords W1eg ¥ 4R SR e ! & QI o el 347y iR iR i ot o 3
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Options :
227427942211
22742794222, 2
22742794223. 3

22742794224. 4

Question Number : 32 Question Id : 22742724185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (1): Dropbox is an example of e-mail service on the Internet.

Statement (I1): Google Docs is an online word processor.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742794225. 1
22742794226. 2
22742794227.3
22742794228. 4

Question Number : 32 Question Id : 22742724185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HY |- SIYEIH Se3-e I 5-0¢ Udl &1 U 3aedU gl
HY |I- 7T S TP SIS 98 U 3|
IWRIcd HYH & el H, Hiid 6T U fadbed! & U UeT IR &1 994 Bifoig

1 Y 3RIGHI 9d g

2 ®YF | AN I GHf AET B

3 @Y | 94 8, dichd By || 38T &
4 Y| MO g, dibd Y 11 T 8

Options:

22742794225. 1
22742794226. 2
22742794227.3

22742794228. 4



Question Number : 33 Question Id : 22742724186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Dynamic RAM (DRAM) is the most common type of RAM used in computers, but where absolute speed is
essential, Static RAM (SRAM) is the preferred technology.

Statement (1): The Processor's Memory Cache is the high speed portion of the memary and SRAM s the effective technology
for the same.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (1) is true.

Options:

22742794229. 1
22742794230. 2
22742794231.3

22742794232. 4

Question Number : 33 Question Id : 22742724186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794229. 1
22742794230. 2
22742794231. 3
22742794232. 4

Question Number : 34 Question Id : 22742724187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements A-D about Internet Cookies is/are true?
{A). They are form of spyware.

(B). They are used only in advertising

(C). They are used to track browser use.

(D). They act in the same way as a virus.

Choose the correct answer from the options given below

1. (A) only.

2. (A) and (B) only
3. (C) only

4 (C)and (D) only.
Options :
22742794233. 1
22742794234, 2
22742794235. 3

22742794236. 4

Question Number : 34 Question Id : 22742724187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794233, 1
22742794234. 2
22742794235. 3
22742794236. 4

Question Number : 35 Question Id : 22742724188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct with reference to Organic Light-Emitting Diodes (OLEDs)?

(A). Because of plastic organic layers, OLEDs are much thicker and heavier than conventional LCD/LED formats.
(B). OLEDs give a brighter light than LEDs leading to more vivid colours.

(C). OLEDs produce a much larger field of view than LCD/LED formats.

(D). OLEDs require some form of back-lighting so that the screen can be lit up.

(E). OLEDs consume more power than LCD/LED formats and thus produce more heat.

Choose the correct answer from the options given below:

Options :

22742794237. 1
22742794238. 2
22742794239. 3
22742794240. 4

Question Number : 35 Question Id : 22742724188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794237. 1
22742794238. 2
22742794239. 3
22742794240. 4

Question Number : 36 Question Id : 22742724189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Concept of salt gradient is utilized to store the heat energy in which of the following solar energy collecting systems?

1. Solar thermal collectors
2. Solar cells

3. Solar ponds

4 Solar kilns

Options:
22742794241. 1
22742794242, 2

22742794243. 3



22742794244, 4

Question Number : 36 Question Id : 22742724189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fet W) et TG0 Ol fo o] H 3 G5l b Y/ GRU b foTU <l ol 1 Wbt ol T ] i 62

1 9% a0 950
2 IR
3 ORam
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Options :

22742794241. 1
22742794242, 2
22742794243, 3
22742794244, 4

Question Number : 37 Question Id : 22742724190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Full form of PAN, a type of air pollutant, is

1. Polycyclic Aromatic Nitrate
2. Polycyclic Acetyl Nitrate

3. Peroxy Aromatic Nitrate

4 Peroxy Acetyl Nitrate

Options :

22742794245. 1
22742794246. 2
22742794247. 3
22742794248. 4



Question Number : 37 Question Id : 22742724190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
9 UgN®| & UP UBR , PAN BT U A1 FE H ¥ &F 91 8?2

1. Uil gsidas WHk® 5de
2. UriiEgiae Uferge Agde
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Options :

22742794245. 1
22742794246. 2
22742794247.3

22742794248. 4

Question Number : 38 Question Id : 22742724191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I). Two categories of Ozone Depleting Substances (ODS) were class | and class |
Statement (I1): Production of class |l ODS ceased in 2000.

In light of the above statements, choose the most appropriate answer from the options given below.

. Both Statement (1) and Statement (1I) are correct.

. Both Statement (I) and Statement (11) are incorrect

- Statement (1) is correct but Statement (11} is incorrect
- Statement (1) is incorrect but Statement (11) is correct

L O —

o

Options :

22742794249. 1
22742794250. 2
22742794251. 3

22742794252. 4



Question Number : 38 Question Id : 22742724191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. DY AR S IO §

2. BYF | 3R | G 3T B

3. ®YT 1 90 &, dfpd DY 1l 39T ©
4 HYF | I e, AfPT PYT I II B
Options:

22742794249 1

22742794250. 2

22742794251. 3

22742794252. 4

Question Number : 39 Question Id : 22742724192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one Is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Formaldehyde, widely used in plastics, wood products, insulating materials, glue and fabrics, is a serious
allergen.

Reason (R) : Allergens are substances that activate the immune system
In light of the above statements, choose the most appropriate answer from the options given below .

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the comect explanation of (A).
3. (A) s correct but (R) is not correct.

4 (A)is not correct but (R) Is correct.



Options :

22742794253. 1
22742794254, 2
22742794255, 3

22742794256. 4

Question Number : 39 Question Id : 22742724192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S A TR, BTG S, - VA, 8 T A 10, 0 7 2 a1 Do 4R Gl e o
@RV R T0R® 3 TG i & o e e o o0 1 G
SRI B2 iy ¥, Fid 15U 0 foedl & § e R 31 9 @it

1 AIRREFI T E IRR AT TR 2
2 ASRRTF o AR AT T A T 2
3 AT AR 9T

4 AR, dETR TR

Options :

22742794253. 1

22742794254 2

22742794255, 3

22742794256. 4

Question Number : 40 Question Id : 22742724193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



During which one of the following the Convention on Biodiversity was opened for signature?

1. Rio Summit

2. Stockholm conference
3. Ramsar convention

4. Montreal Protocol

Options :

22742794257. 1
22742794258. 2
22742794259. 3

22742794260. 4

Question Number : 40 Question Id : 22742724193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794257. 1
22742794258. 2
22742794259. 3

22742794260. 4

Question Number : 41 Question Id : 22742724194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Hindu college of Calcutta was later renamed as

_ Surendranath college

- Ram Mohan Roy college
University/College

. Presidency college

[

o

Options :

22742794261. 1
22742794262. 2
22742794263. 3

22742794264. 4

Question Number : 41 Question Id : 22742724194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794261. 1
22742794262. 2
22742794263.3

22742794264. 4

Question Number : 42 Question Id : 22742724195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Dr. B. R. Ambedkar was associated with

{A). Elphinstone college, Mumbai

(B). Khalsa college, Mumbai

(C). Milind college, Aurangabad

(D). Siddharth college, Mumbai

(E). Fergusson college, Pune

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2.(B), (C)and (D) only
3. (C), (D) and (E) only
4. (A), (D) and (E) only.
Options :
22742794265. 1
22742794266. 2
22742794267. 3

22742794268. 4

Question Number : 42 Question Id : 22742724195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794265. 1
22742794266. 2
22742794267. 3
22742794268. 4

Question Number : 43 Question Id : 22742724196 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): The National Policy on Education (1986) intended to encourage inter-disciplinary research in social science.
Statement (1) According to the National Policy on Education (1986) the idea of rural universities was untenable.

In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (11} Is false.
4 Statement (1) is false but Statement (II) is true.

Options:

No



22742794269. 1
22742794270. 2
22742794271. 3

22742794272. 4

Question Number : 43 Question Id : 22742724196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794269. 1
22742794270. 2
22742794271. 3

22742794272. 4

Question Number : 44 Question Id : 22742724197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following fundamental principles of education are highlighted under New National Education Policy (2020)?
(A). Higher education as a fundamental right.

(B). Multi-disciplinarity and holistic education.

(C). Outstanding research as part of higher education.

(D). Promotion of multilingualism in teaching and learning.

(E). Setting up of another knowledge commission.

Choose the correct answer from the options given below:

(A), (B) and (C) only.
(B), (C) and (D) only
©) (

(D)and (

)
C), (D) and (E) only

),
),
),
(A), (D) and (E) only.

1
2
3
4
Options :

22742794273. 1
22742794274. 2
22742794275. 3

22742794276. 4

Question Number : 44 Question Id : 22742724197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427942731
22742794274. 2
22742794275. 3
22742794276. 4

Question Number : 45 Question Id : 22742724198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Environmental education is needed for:

{A). Conservation of natual resources.

(B). Knowledge of causes of pollution.

(C). Knowledge of measures to prevent pollution.

(D). Extensive extraction of natural resources.

(E). Economising on scientific invention.

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B), (C) and (D) only
3. (C), (D) and (E).

4. (A), (D) and (E) only.
Options :
22742794277.1
22742794278. 2
22742794279. 3

22742794280. 4

Question Number : 45 Question Id : 22742724198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742794277. 1
22742794278. 2
22742794279. 3

22742794280. 4

Sub-Section Number : 3
Sub-Section Id : 227427948
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742724199 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage carefully and answer the questions given below:

Saving energy means saving money. Homeowners and renters know this basic fact, but they often don't know what kinds of
adjustments they can make in their homes and apartments that will result in savings.

For those willing to spend some time and money to reap long-term energy savings, an energy audit is the way to go. An energy
auditor will come into your home and assess its energy efficiency. The auditor will pinpoint areas of your home that use the most
energy and offer solutions to lower your energy use and costs. Trained energy auditors know what to look for and can locate &
variety of flaws that may be resulting in energy inefficiency, including inadequate insultion, construction flaws, and uneven heat
distribution.

There are quicker and less costly measures that can be taken as well. One way to save money is o replace incandescent lights
with fluorescents. This can result in a savings of more than 50% on your monthly lighting costs. When it's time to replace old
appliances, if's wise to spend & bit more for an energy-efiicient model, and be sure that you are taking advantage of energy-
saving settings already on your current refrigerator, dishwasher, washing machine, or dryer.

Windows provide another opportunity to cut your energy costs. Caulk old windows that might be leaky to prevent drafts, and
choose double-paned windows if you're building an addition or replacing old windows.

Most areas of your home or apartment offer opportunifies o save energy and money. The results are significant and are well
worth the effort.

Sub questions

Question Number : 46 Question Id : 22742724200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The passage indicates that old appliances

1. Consume more energy.
2. Consume less energy.
3. Work well.

4 Have long life.

Options :

22742794281. 1
22742794282 2
22742794283. 3

22742794284. 4



Question Number : 47 Question Id : 22742724201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

With reference to the fourth paragraph of the passage, the meaning of the word 'Caulk’ is

_to shut

- to make more attractive

_to fill the holes

4. to find the cause of a problem

[ O

Options:

22742794285. 1
22742794286. 2
22742794287. 3
22742794288. 4

Question Number : 48 Question Id : 22742724202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, double-paned windows

1. should never be used as replacement windows or in new additions to homes
2. can't be repaired

3. will lower your heating costs by 50%

4 are energy efficient

Options:

22742794289. 1

22742794290. 2

22742794291. 3

22742794292. 4

Question Number : 49 Question Id : 22742724203 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, which of the following would an energy auditor do?
(A). Locate a variety of flaws that may result in energy inefficiency and fix them.
(B). Check for construction flaws

(C). Look for problems with heat distribution

(D). Offer solutions to lower your energy costs

Choose the correct answer from the options given below:

1. Aonly.

2. B and C only.

3. C and D only.
4 B, CandD only

Options :

22742794293. 1
22742794294, 2
22742794295. 3

22742794296. 4

Question Number : 50 Question Id : 22742724204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following ideas is not included in the passage?

1. You can reduce your monthly lighting costs by more than 50% by using fluorescent bulbs instead of incandescent.
2. Double-paned windows can cut energy costs.

3. Energy audit for every home and apartment should be mandatory in India.

4 Some appliances have energy-saving settings.

Options:

22742794297. 1

22742794298. 2



22742794299. 3
22742794300. 4

Question Id : 22742724199 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742724200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794281. 1
22742794282. 2
22742794283. 3
22742794284. 4

Question Number : 47 Question Id : 22742724201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794285. 1
22742794286. 2
22742794287. 3
22742794288. 4

Question Number : 48 Question Id : 22742724202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794289. 1
22742794290. 2
22742794291.3

22742794292. 4

Question Number : 49 Question Id : 22742724203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794293, 1
22742794294. 2
22742794295. 3
22742794296. 4



Question Number : 50 Question Id : 22742724204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794297. 1
22742794298. 2
22742794299. 3

22742794300. 4
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Section Marks : 200
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Maximum Instruction Time: 0
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Question Shuffling Allowed : Yes
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Question Number : 51 Question Id : 22742724205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hans Morganthau considered international politics as:-

. Struggle for Human Welfare

. Struggle for peace

. Struggle for power

_ Struggle to maintain cultural relation

[ e

o

Options:

22742794301. 1
22742794302. 2
22742794303. 3
22742794304. 4

Question Number : 51 Question Id : 22742724205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794301. 1
22742794302. 2
22742794303. 3

22742794304. 4



Question Number : 52 Question Id : 22742724206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Robert Cox, powerful country establishes hegemony not only by power but also by -

1. Cultural conflict

2. Generate broad consent for the "World Order’
3. Arms race

4 Nomadic differences

Options :

22742794305. 1
22742794306. 2
22742794307.3

22742794308. 4

Question Number : 52 Question Id : 22742724206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794305. 1
22742794306. 2
22742794307. 3

22742794308. 4

Question Number : 53 Question Id : 22742724207 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The great debate between positivism and post-positivism reflects the growing influence of -

1. Liberalism

2. Anti-Marxism

3. Critical Perspectives
4 Realism
Options :
227427943009. 1
22742794310. 2
22742794311. 3

22742794312. 4

Question Number : 53 Question Id : 22742724207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794309. 1
22742794310. 2
22742794311.3
22742794312. 4

Question Number : 54 Question Id : 22742724208 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who advanced the notion of ‘anarchical society’?

1. Robert Cox

2. Hedley Bull

3. Cohen and Niye
4 Tim Dunne
Options :
22742794313. 1
22742794314. 2
22742794315. 3

22742794316. 4

Question Number : 54 Question Id : 22742724208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742794313. 1
22742794314. 2
22742794315. 3

22742794316. 4

Question Number : 55 Question Id : 22742724209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

P M. Atal Bihari Vajpayee visited China in:-

1997
1993
2003

2005

[ o

e

Options :

22742794317. 1
22742794318. 2
22742794319.3

22742794320. 4

Question Number : 55 Question Id : 22742724209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794317. 1
22742794318. 2
22742794319. 3

22742794320. 4

Question Number : 56 Question Id : 22742724210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which year China signed a convention with Britain recognising Sikkim as a British protectorate and delineate the Sikkim- Tibet Boundary?
|
2
3
4

Options :

22742794321. 1
22742794322. 2
22742794323.3
22742794324. 4

Question Number : 56 Question Id : 22742724210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options:

22742794321. 1
22742794322. 2
22742794323.3

22742794324. 4

Question Number : 57 Question Id : 22742724211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The World System Theory Focuses On:-

~ North and West relations

_ North and East relations

. Core and Periphery

. South —South cooperation

[

o

Options :

22742794325. 1
22742794326. 2
22742794327. 3

22742794328. 4

Question Number : 57 Question Id : 22742724211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794325. 1
22742794326. 2
22742794327.3

22742794328. 4

Question Number : 58 Question Id : 22742724212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Global power is becoming fragmented and pluralised due to the growing importance of -:

1. NGOs and international organisations
2. US

3. NATO

4 North Korea

Options :

22742794329. 1
22742794330. 2
22742794331. 3

22742794332. 4

Question Number : 58 Question Id : 22742724212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742794329. 1
22742794330. 2
22742794331. 3

22742794332. 4

Question Number : 59 Question Id : 22742724213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who was the Chief of Indian Army during the Kargil War?

—

1. Gen Anil Chauhan
2. Gen Ved Malik

3. Gen Manoj Pande
4 Gen Manekshaw

Options :

22742794333. 1
22742794334. 2
22742794335. 3

22742794336. 4

Question Number : 59 Question Id : 22742724213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794333. 1
22742794334, 2
22742794335.3

22742794336. 4

Question Number : 60 Question Id : 22742724214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



India and China signed 'Panchsheel Agreement’ in the year:-
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Options :

22742794337. 1
22742794338. 2
22742794339. 3

22742794340. 4

Question Number : 60 Question Id : 22742724214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR 3R H14 7 Uaeiid HEd IR S%ER 6y gy & ur

1.1953
2. 1954
3. 1955
4 1956
Options:

22742794337.1
22742794338. 2
22742794339. 3
22742794340. 4

Question Number : 61 Question Id : 22742724215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



India responded to Pak sponsored terrorist attack in Uri in 2016 by:-

. Open Warfare

. Surgical Strike

. Trade Promotion

. Conventional warfare

[

o

Options :

22742794341. 1
22742794342. 2
22742794343. 3

22742794344. 4

Question Number : 61 Question Id : 22742724215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794341. 1
22742794342, 2
22742794343.3

22742794344. 4

Question Number : 62 Question Id : 22742724216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



India adopted ‘Act East Policy’ to develop strong economic and strategic relation with:-

1. African nations

2. Indo-Pacific nations

3. East European nations
4 Central Asian nations
Options :
22742794345, 1
22742794346. 2
22742794347. 3

22742794348. 4

Question Number : 62 Question Id : 22742724216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794345. 1
22742794346. 2
22742794347.3

22742794348. 4

Question Number : 63 Question Id : 22742724217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



G-4 nations include:-

_India, Japan, Germany and Brazil
_India, China, Russia and South Africa
- Mexico, Canada, Pakistan and Brazil
_ Spain, ltaly, UK. and Turkey

[

o

Options :

22742794349. 1
22742794350. 2
22742794351. 3

22742794352. 4

Question Number : 63 Question Id : 22742724217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794349. 1
22742794350. 2
22742794351.3

22742794352. 4

Question Number : 64 Question Id : 22742724218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who was the first Prime Minister of India to visit Israel?

1. Indira Gandhi

2. Dr. Manmohan Singh
3. Rajiv Gandhi

4 Narendra Modi
Options :
22742794353. 1
22742794354, 2
22742794355. 3

22742794356. 4

Question Number : 64 Question Id : 22742724218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794353. 1

22742794354, 2

22742794355. 3

22742794356. 4

Question Number : 65 Question Id : 22742724219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who wrote ‘China: Fragile Superpower’ ?

1. Jack Snyder
2. Robert Cox
3. David Singer

4 Shrik Susan

Options :

22742794357. 1
22742794358. 2
22742794359. 3

22742794360. 4

Question Number : 65 Question Id : 22742724219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742794357 1
22742794358. 2
22742794359. 3

22742794360. 4

Question Number : 66 Question Id : 22742724220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which year, the Islamic revolution occurred in lran?

149717

2.1979

31974

4 19581
Options :
22742794361. 1
22742794362. 2
22742794363. 3

22742794364. 4

Question Number : 66 Question Id : 22742724220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794361. 1
22742794362. 2
22742794363.3

22742794364. 4

Question Number : 67 Question Id : 22742724221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which year the Dumbarton Oaks conference was held to determine the future structure of UN?
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Options :

22742794365. 1
22742794366. 2
22742794367. 3

22742794368. 4

Question Number : 67 Question Id : 22742724221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794365. 1
22742794366. 2
22742794367.3

22742794368. 4

Question Number : 68 Question Id : 22742724222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When did the Mexican Economic crisis erupt?

890-1991
04-1995

96-1997
O7-1995

1.4
2.1
3.
1

[ T fD

4

Options :

22742794369. 1
22742794370. 2
22742794371.3

22742794372. 4

Question Number : 68 Question Id : 22742724222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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-1991

Options:

22742794369. 1
22742794370. 2
22742794371.3
22742794372. 4

Question Number : 69 Question Id : 22742724223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Indian Nuclear policy refer to:

1. Anti Deterrence

2. Creditable minimum deterrence with no first use
3. Nuclear apartheid

4. First strike policy

Options :

22742794373. 1

22742794374. 2

22742794375. 3

22742794376. 4

Question Number : 69 Question Id : 22742724223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794373. 1
22742794374. 2
22742794375.3
22742794376. 4

Question Number : 70 Question Id : 22742724224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Intra-state war refers to:

1. War between two countries

2. War within a State

3. War with neighbouring country
4 Maritime warfare

Options :

22742794377. 1

22742794378. 2

22742794379. 3

22742794380. 4

Question Number : 70 Question Id : 22742724224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794377.1
22742794378. 2
22742794379. 3

22742794380. 4

Question Number : 71 Question Id : 22742724225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which year, India and US announced the launch of Civil Nuclear Co-operation Initiative?

11999

2.2005

32014

4 2023
Options :
22742794381. 1
22742794382. 2
22742794383. 3

22742794384. 4

Question Number : 71 Question Id : 22742724225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794381. 1
22742794382. 2
22742794383.3

22742794384. 4

Question Number : 72 Question Id : 22742724226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



India has joined QUAD to-

1. Join Russian Camp.

2. Counter Chinese hegemony in Indo- Pacific region.

3. To promote friendly relations with Scandinavian countries
4. To open diplomatic channels with China.

Options :

22742794385. 1

22742794386. 2

22742794387. 3

22742794388. 4

Question Number : 72 Question Id : 22742724226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794385. 1
22742794386. 2
22742794387.3

22742794388. 4

Question Number : 73 Question Id : 22742724227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



India's ‘Look West Policy’ is related to:-

1. West Europe

2. North East Asia
3. Central Asia

4 The Middle East
Options :
22742794389. 1
22742794390. 2
22742794391. 3

22742794392. 4

Question Number : 73 Question Id : 22742724227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794389. 1
22742794390. 2
22742794391. 3
22742794392. 4

Question Number : 74 Question Id : 22742724228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



India seeks permanent membership of UN Security Council with an aim to:-

1. Enhance its credibility and legitimacy
2. Promote armament

3. Increase poverty

4. Reduce population

Options :

22742794393. 1
22742794394. 2
22742794395. 3

22742794396. 4

Question Number : 74 Question Id : 22742724228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794393. 1
22742794394, 2
22742794395. 3

22742794396. 4

Question Number : 75 Question Id : 22742724229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



An individual who flees from his country of nationality because of fear of persecution on the ground of race and ethnicity is referred to as:-

1. Legal tourist

2. Refuges

3. Permanent residence
4 Visitor

Options :

22742794397. 1
22742794398. 2
22742794399. 3
22742794400. 4

Question Number : 75 Question Id : 22742724229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794397. 1
22742794398. 2
22742794399. 3

22742794400. 4

Question Number : 76 Question Id : 22742724230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When did India become the member of ASEAN Regional Forum (ARF)?

4983
1996
2013
2017

[

o

Options :

22742794401. 1
22742794402. 2
22742794403. 3

22742794404. 4

Question Number : 76 Question Id : 22742724230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794401. 1
22742794402. 2
22742794403. 3
22742794404. 4

Question Number : 77 Question Id : 22742724231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



China's Belt and Road Initiative is widely criticised for:-

1. A debt- trap project.

2. Issues related to consumerism
3. Issues related to navigation.

4. Issue related to migration

Options :

22742794405. 1
22742794406. 2
22742794407. 3
22742794408. 4

Question Number : 77 Question Id : 22742724231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794405. 1

22742794406. 2

22742794407. 3

22742794408. 4

Question Number : 78 Question Id : 22742724232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following countries is not the "Strategic Partner’ of India?

. France
- Russia
. Brazil

- Turkey

[ s

o

Options :

227427944009. 1
22742794410. 2
22742794411.3

22742794412. 4

Question Number : 78 Question Id : 22742724232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742794400. 1
22742794410. 2
22742794411. 3

22742794412. 4

Question Number : 79 Question Id : 22742724233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not a pillar of India’s soft power diplomacy?

. Dialogue

. Shared prosperity

. To accelerate global conflict

. Cultural and civilizational links

[

o

Options :

22742794413. 1
22742794414. 2
22742794415. 3

22742794416. 4

Question Number : 79 Question Id : 22742724233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794413. 1
22742794414, 2
22742794415.3
22742794416. 4

Question Number : 80 Question Id : 22742724234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



By which resolution, the United Nations proclaimed the International day of Yoga in 20147

1. Resolution No. 79/131
2. Resolution No. 89/139
3. Resolution No. 69/131
4. Resolution No. 79/139

Options :

22742794417. 1
22742794418. 2
22742794419. 3

22742794420. 4

Question Number : 80 Question Id : 22742724234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. Yhed =1 79/131
2. Hobed TH=AT 89/139
3. Hobed HH=AT 69/131
4. Hebed TH=AT 79/139
Options:
22742794417. 1
22742794418. 2
22742794419.3

22742794420. 4

Question Number : 81 Question Id : 22742724235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which country was elected as the first chair of UN Decolonization Committee?

. South Africa
_India

- Egypt

. Cuba

[ s

o

Options :

22742794421. 1
22742794422. 2
22742794423. 3

22742794424. 4

Question Number : 81 Question Id : 22742724235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794421. 1
22742794422. 2
22742794423.3

22742794424. 4

Question Number : 82 Question Id : 22742724236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following countries is not the member of Shanghai Co-operation Organization?

1. China

2. India

3. Iran

4 Iraq

Options :
22742794425. 1
22742794426. 2
22742794427. 3

22742794428. 4

Question Number : 82 Question Id : 22742724236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FOfaRad ®H-91 G X91s YeaiT Ta- &l 969 el 872

1.9

2. HIRd

3. 3XH

4 Hd
Options:
22742794425. 1
22742794426. 2
22742794427. 3

22742794428. 4

Question Number : 83 Question Id : 22742724237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not the principle of Panchsheel?

1. Mutual Interference

2. Mutual Non-aggression

3. Peaceful co-existence

4. Equality and mutual-benefit

Options :

22742794429. 1
22742794430. 2
22742794431. 3

22742794432. 4

Question Number : 83 Question Id : 22742724237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794429. 1
22742794430. 2
22742794431.3

22742794432. 4

Question Number : 84 Question Id : 22742724238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Min Aung Hlaing is associated with-

1. Indonesia

2. Thailand

3. Myanmar

4 Taiwan
Options :
22742794433, 1
22742794434, 2
22742794435, 3

22742794436. 4

Question Number : 84 Question Id : 22742724238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742794433, 1
22742794434, 2
22742794435, 3

22742794436. 4

Question Number : 85 Question Id : 22742724239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The term ‘Coloured Revolution’ is used to describe a series of non-violent protests that took place in:

1. Newly independent African States.
2. Post-Soviet Union States

3. Scandinavian Countries

4_Nordic Courtiers

Options :

22742794437. 1
22742794438. 2
22742794439. 3

22742794440. 4

Question Number : 85 Question Id : 22742724239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794437. 1

22742794438. 2

22742794439. 3

22742794440. 4

Question Number : 86 Question Id : 22742724240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In which G-20 summit, African Union (AU) has been inducted as a member?

1. New Delhi Summit 2023
2 Jakarta Summit 2022

3. Beljing Summit 2017

4 Rome Summit 2020
Options :

22742794441 1
22742794442, 2
22742794443, 3

22742794444, 4

Question Number : 86 Question Id : 22742724240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 93 feol 2023
2. Sl 2023
3. difel T 2017
439, 2020
Options:
22742794441, 1
22742794442 2
22742794443. 3

22742794444, 4

Question Number : 87 Question Id : 22742724241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Quebec’ seeks independence from which of the following countries?

1. Argentina

2. Turkey

3. Ukraine

4 Canada
Options :
22742794445, 1
22742794446. 2
22742794447 3

22742794448. 4

Question Number : 87 Question Id : 22742724241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 3foife
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3 gee

4 D-la
Options:
22742794445, 1
22742794446. 2
22742794447, 3

22742794448. 4

Question Number : 88 Question Id : 22742724242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Helsinki Accord of 1975 is associated with -

1. Nuclear non-proliferation

2. Reduce tension between U5 and USSR during the Cold War
3. OPEC cartel

4. Expansion of NATO

Options :

22742794449. 1
22742794450. 2
22742794451. 3
22742794452. 4

Question Number : 88 Question Id : 22742724242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. UIHY] UER
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Options:

22742794449. 1
22742794450. 2
22742794451.3

22742794452, 4

Question Number : 89 Question Id : 22742724243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Chakma’ refugees who have taken shelter in India, came from:

1. Nepal

2. Bangladesh
3. Bhutan

4 Srilanka
Options :
22742794453, 1
22742794454, 2
22742794455, 3

22742794456. 4

Question Number : 89 Question Id : 22742724243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4. Yicidpl
Options:
22742794453. 1
22742794454, 2
22742794455, 3

22742794456. 4

Question Number : 90 Question Id : 22742724244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one of the following statement is not atiributed to Kautilya?

1. Aking may use a peace treaty to strengthen alliances.

2. Aking shall also behave in a just manner towards a king whom he has subjugated.

3. The success of a king depends only on military power.

4 The king should encourage trade and commerce, as it results in the prosperity of the Kingdom.

Options :

22742794457. 1
22742794458. 2
22742794459. 3
22742794460. 4

Question Number : 90 Question Id : 22742724244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794457. 1
22742794458. 2
22742794459. 3

22742794460. 4

Question Number : 91 Question Id : 22742724245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The tools of foreign policy as per concept of Realism include:-
A. Diplomacy

B. Economic Incentives

C. Promotion of Global peace

D. Sanctions

E. Armed forces

Choose the most appropriate answer from the given below:

1. AB,C,D only
2. AB.,D.E only
3. B,C.,D.E only
4 B,D.E only

Options :

22742794461. 1
22742794462. 2
22742794463. 3
22742794464. 4

Question Number : 91 Question Id : 22742724245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A BeAid
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c. fayzifa =t sg@
D. ufqdy

E. 83R4 dd
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1. ®ddA B, C3R D
2. BddA B, D 3R E
3. ®ddB,. C. D IRE
4 HAAB, D AR E
Options :
22742794461 1
22742794462, 2
22742794463. 3

22742794464. 4

Question Number : 92 Question Id : 22742724246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Regional organisation of Asia include -

A_Mercosur

B. ASEAN

C. Gulf Cooperation Council

D. Nordic Council

E SAARC

Choose the most appropriate answer from the given below:

1. AB,C,D only
2.B,C.D.E only
3. B,C.E only

4 AB.,D.E only

Options :

22742794465. 1
22742794466. 2
22742794467. 3
22742794468. 4

Question Number : 92 Question Id : 22742724246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C. WIal gdn uiug (@ER)

D. FIfE7 uliwg @3 faa)

E 91d

=t fau U fadedi & I Ug1 IR &1 99 Bifog

1. ®ddA B, C3R D
2. HddB. C. D 3IRE
3. ®AAB, C AR E

4 HAAA B, D AR E
Options :
22742794465, 1
22742794466, 2
22742794467. 3

22742794468. 4

Question Number : 93 Question Id : 22742724247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Post World War-ll, Liberalism can be divided into four main strands of thinking -
A. Sociological Liberalism

B. Colonial Liberalism

C. Interdependent Liberalism

D. Institutional Liberalism

E. Republican Liberalism

Choose the most appropriate answer from the given below:

1. AB,C,D only
2.B,C.D.E only
3. A.C.D.E only
4 A B,D,E only

Options :

22742794469. 1
22742794470. 2
22742794471.3
22742794472. 4

Question Number : 93 Question Id : 22742724247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



aatd [Aygs R IeRac! fda- & IR &1 dal | fayiord fasdn 51 g -
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C. IR 3erag

D. OTIH® 3IaRdlg

E. TI0dATE® 3aRdlG

g feu U fowedl & ¥ 981 STk &1 99 Difot-

1. ®adA B, C 3R D
2 ®ddB, C DIIRE
3 ®addA C DIIRE
4 HddA B, D3RE

Options :

22742794469. 1
22742794470. 2
22742794471.3
22742794472. 4

Question Number : 94 Question Id : 22742724248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In his book "The Qrigins of Political Order’, Francis Fukuyama presents following European state-building outcomes:
A. Weak absolutism- French and Spanish monarchies

B. Successful absolutism- Russian monarchy

C. Successful oligarchy- Scotland and Swaziland

D. Failed oligarchy- Hungary and Poland

E. Accountable government -England and Denmark

Choose the most appropriate answer from the given below:

1.ABD.Eonly
2.AB,C,D only
3.B,C.D,E only
4 B,C.D only

Options :

227427944731
22742794474. 2
22742794475. 3

22742794476. 4

Question Number : 94 Question Id : 22742724248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. BaqA B, D IRE
2. BAqA B, CHRD
3. %40 B, C, D 3RE
4 $9gB, C R D
Options :
22742794473 1
22742794474, 2
22742794475. 3

22742794476. 4

Question Number : 95 Question Id : 22742724249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Atlantic Charter signed in August 1941, included following points-

A_ Territorial adjustments must be in accordance with the wishes of the people concerned
B. Only USA and UK would seek territorial gains.

C. People had a right to self-determination

D. Freedom of the seas

E. Disarmament of aggressor nations

Choose the most appropriate answer from the given below:

1. A,C,D.E only
2.AB,C,D only
3.B,C.D,E only
4 A, C,Donly

Options :

22742794477. 1
22742794478. 2
22742794479. 3

22742794480. 4

Question Number : 95 Question Id : 22742724249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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H1d feu o fawedl § © 981 3T &1 99 Bifau-

1. ®ad A C D3RE
2 ®add A B, C 3R D
3 ®ddB C DIIRE
4 HAAA, C AR D

Options :

22742794477. 1
22742794478. 2
22742794479. 3

22742794480. 4

Question Number : 96 Question Id : 22742724250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the empires of Indian sub-continent that impacted regional geopolitics of their time.
A.Mauryan Empire

B. Gupta Empire

C. Vijaynagar Empire

D. Chola Empire

E. Maya Empire

Choose the most appropriate answer from the given below:

1. AB,C,D only
2.B,CD.E only

3. C,D.E only

4. B,D.E only
Options :
22742794481. 1
22742794482. 2
22742794483. 3

22742794484. 4

Question Number : 96 Question Id : 22742724250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. %adA B.C3RD
2 H9AB C D IRE
3. %90 C. D IRE

4 Haa B D IARE
Options :
22742794481 1
22742794482. 2
22742794483. 3

22742794484. 4

Question Number : 97 Question Id : 22742724251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the correct abbreviations:-

A IDSA- Institute for Defense Studies and Analysis

B. l155- International Institute for Strategic Study

C. GN55- Global Navigation Satellite System

D. ISRO- Indian Science Reserve Organisation

E. DRDO- Data Research and Data Organisation

Choose the most appropriate answer from the given below:

1. AB,C,D only
2.B,C.D.E only
3.C,D,Eonly
4 A B,C only

Options :

22742794485. 1
22742794486. 2
22742794487. 3

22742794488. 4

Question Number : 97 Question Id : 22742724251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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J1 feu 70 faeedl § © 98t 3T &1 994 Difu-

1. ®adA B, C 3R D
2 ®ddB, C DIRE
3. ®dd C, D3RE
4 HIAA B3R C

Options :

22742794485. 1
22742794486. 2
22742794487. 3
22742794488. 4

Question Number : 98 Question Id : 22742724252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



C4l includes:-

A Command

B. Control

C. Intelligence

D. Communication

E. Cultural

Choose the most appropriate answer from the given below:

1. AB,C,D only
2.B,C.D.E only
3.C,D,Eonly

4 AB,CD,E only
Options :
22742794489. 1
22742794490. 2
22742794491. 3

22742794492. 4

Question Number : 98 Question Id : 22742724252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®ddA B, C3R D

2. ®ddB. C. D IRE
3. HAAC, DARE

4 HIAA B, C. D3RE
Options :
22742794489, 1
22742794490, 2
22742794491, 3

22742794492. 4

Question Number : 99 Question Id : 22742724253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Scandinavian countries consists of

A. Norway

B. Sweden

C. Finland

D. Greece

E. Denmark

Choose the most appropriate answer from the given below:

1. AB,C,E only
2. A.CD.E only
3. B,C.,D.E only
4 AB,CD,E only

Options :

22742794493. 1
22742794494, 2
22742794495. 3
22742794496. 4

Question Number : 99 Question Id : 22742724253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®ddA B, C3IRE

2. BAdA C D IRE
3. ®ddB,. C. D IR E

4 HIAA B, C. D3RE
Options :
22742794493, 1
22742794494, 2
22742794495, 3

22742794496. 4

Question Number : 100 Question Id : 22742724254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Countries defeated by Israel during the six-day war in 1967 included:-

A_Saudi Arabia

B. Egypt

C. Irag

D. Jordan

E. Synia

Choose the most appropriate answer from the given below:

1. AB,C only
2.B,C.Donly

3. C,D,Eonly

4 B,D.E only
Options :
22742794497. 1
22742794498. 2
22742794499. 3

22742794500. 4

Question Number : 100 Question Id : 22742724254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



a9 1967 H ©e oy 48 & SRH SoRIgd gRI GIford G § i &
A T3 ad

2 feu 7T fAeedl § © 8! SR &1 994 Bift-

1. $ddA B3R C
2 ®adB. C 3R D
3. ®maadC DIARE
4 HAAdBDIRE
Options :
22742794497. 1
22742794498, 2
22742794499, 3

22742794500. 4

Question Number : 101 Question Id : 22742724255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Presidents/Prime Ministers of France since 1959 include:-
A_ Charles de Gaulle

B. Francois Mitterrand

C. Giorgia Meloni

D. Nicolas Sarkozy

E. Francois Hollande

Choose the most appropriate answer from the given below:

1. AB,C,D only
2.B,C.D.E only
3.C,D,Eonly

4 AB.,D.E only
Options :
22742794501. 1
22742794502. 2
22742794503. 3

22742794504. 4

Question Number : 101 Question Id : 22742724255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®ddA B, C3R D
2. ®ddB. C. D IRE
3. HAAC, DARE

4 HAAA BD3ARE
Options :
22742794501, 1
22742794502. 2
22742794503 3

22742794504. 4

Question Number : 102 Question Id : 22742724256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



On 14 August 1945, Russian leader Stalin signed the Sino-Soviet Treaty of Friendship and Alliance with Chinese leader Chiang Kai- Shek It
contained following provisions -

A. Chiang acknowledged the independence of Outer Mangolia,

B. Stalin recognised Chiang as China’s leader.

(. Stalin refused to recognise China's sovereignty of former Chinese provinces conquered by Malaysia.
D. Chiang recognised Brezhnev as Stalin's sticcessor

E. Chiang acknowledged Soviet military occupation of Port Arthur

Choose the most appropriate answer from the given below;

1.AB,CD only
2 AB Eonly
3.6,C.D only
4.B,CD.E only

Options :

22742794505. 1
22742794506. 2
22742794507. 3
22742794508. 4

Question Number : 102 Question Id : 22742724256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A, T3 T8 S ) T @1 i o

B, eFT 4 T o & 401 & FU A A

C. T 5 Tt g ol 70 0 6 O il % 0 ) e ) S, a4 TR o el
DT 3§54 1 T 1 G A

E 73T 372R X W 41 s ol 1 TR

A U ot o 4 ) O @ T B

1. 99A B CIRD
) §30A B, RE
3 9308, C, R D
4§38, ¢, DARE

Options :

22742794505. 1
22742794506. 2
22742794507. 3

22742794508. 4

Question Number : 103 Question Id : 22742724257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Agreements made at the Yalta Conference of February 1945 included:-

A USSR would enter the war against Japan three months after Germany had surrendered.

B. Germany would be divided into Seven zones.

C. An Axis Control Council would be set up to administer national policies for France.

D. Nazi war criminals would be tried in the International Court of Justice

E. China, France, UK, USA, and USSR would be permanent members of new United Nations Organisation’” Security Council
Choose the most appropriate answer from the given below:

1.A B.Conly
2.B.CD only
3. B,D.E only
4. AD.E only

Options :

227427945009. 1
22742794510. 2
22742794511. 3
22742794512. 4

Question Number : 103 Question Id : 22742724257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. ST 1 faWTSr 91 T # feou s

C. W19 & fere i St 1 il &3 & fef 0 8 ek ok (o dheia i) &1 I &1 9
D. 1ol G  SMORITHG R SferiTa urarerd # foamut foa smeem

E 9, W19, o, 08U 3R JURCHAR, T §75 TP 99 8T IR o R Se B

i feg o faedl # © W1 SR @1 7 BT

1. %ddA BIARC
2 HaaB, CHRD
3 HaaB, D INE
4 HaTA DIARE

Options :

227427945009. 1
22742794510. 2
22742794511.3

22742794512. 4

Question Number : 104 Question Id : 22742724258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Thomas Scheeling's Nuclear state craft contains the following features:-
A Strategic realism

B. Art of coercion

C. Civic virtue

D. Security and survival

E. Value-Natural

Choose the most appropriate answer from the given below:

1. A, B,Conly
2. B,C.D Eonly
3. AB,D.E only
4 A CD.E only

Options :

22742794513. 1
22742794514. 2
22742794515. 3
22742794516. 4

Question Number : 104 Question Id : 22742724258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. YR&M 3R Jusiiaal
E. Aed-desy

= fET 7T fadedl & 9 I8! SR &1 997 BIeL-

1. ®adA B3R C

2. HddB. C D ARE
3. ®WAAA B D 3R E
4 HAAA C. D ARE
Options :
22742794513, 1
22742794514, 2
22742794515, 3

22742794516. 4

Question Number : 105 Question Id : 22742724259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The circumstances under which China would consider the use of force, against Taiwan include the following -
A Formal declaration of Taiwan independence

B. To promote China- Japan relations

C. Internal unrest in Taiwan

D. Tawan's acquisition of nuclear weapons

E. Foreign military intervention in Taiwan's internal affairs.

Choose the most appropriate answer from the given below:

1.AD.E only
2.A.CDE only

3. C.D.Eonly
4.B,CD.E only
Options :
22742794517. 1
22742794518. 2
22742794519. 3

22742794520. 4

Question Number : 105 Question Id : 22742724259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A TIZaH @1 Waadl @ Adid 9re

B. 9H-TgH Tati ®1 Fg1a1 &1 & fore

C. TZar ¥ fiai® mifd

D. A gRT SATUAd 3%dl &I U B

E. T2dH & JfidRa AHal H facwi § gway
42w o i & @ U8 S &1 99 i

1 $adA D.E

2 $ddA C D, E
3 $aaC,D ARE
4 $3dB.C D, E

Options :

22742794517. 1
22742794518. 2
22742794519. 3
22742794520. 4

Question Number : 106 Question Id : 22742724260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The proposed TAPI gas pipeline project links-

A Tazikistan

B. Afghanistan

C. Pakistan

D. India

E. Turkmenistan

Choose the most appropriate answer from the given below:

1. AB,C,D only
2.B,C.D.E only
3. AB,D.E only
4 A CD.E only

Options :

22742794521. 1
22742794522. 2
22742794523. 3
22742794524. 4

Question Number : 106 Question Id : 22742724260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. HRd

E goHHwE

=t fau U fadedl & I 981 SR &1 99 Difeid-

1. ®ddA B, C3R D
2. HddB. C. D IRE
3. ®WAAA B D 3R E
4 HAAA C. D ARE
Options :
22742794521, 1
22742794522, 2
22742794523. 3

22742794524. 4

Question Number : 107 Question Id : 22742724261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following countries have been invited to become members of BRICS?
A. Ethiopia

B. Argentina

C. UAE

D. Indonesia

E. Iran

Choose the most appropriate answer from the given below:

1. AB,C,D only
2. AB,CE only
3. B,C,D,E only
4. A B,D.E only

Options :

22742794525. 1
22742794526. 2
22742794527. 3
22742794528. 4

Question Number : 107 Question Id : 22742724261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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E. XM

i feu U foecd! | € U981 9Tk &1 997 Difit-

1. WddA B, C XD
2. BadA B, C 3R E
3. 4B, C D3RE
4 HAdA B, DIRE
Options :
22742794525, 1
22742794526, 2
227427945273

22742794528. 4

Question Number : 108 Question Id : 22742724262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are Central American countries?

A Gabon

B. Guatemala

C. Nicaragua

D. Panama

E. Cameroon

Choose the most appropriate answer from the given below:

1. AB,C only
2.B,C.Donly

3. C,D,Eonly

4 B,D.E only
Options :
22742794529. 1
22742794530. 2
22742794531. 3

22742794532. 4

Question Number : 108 Question Id : 22742724262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 ®adB. C 3R D
3. ®maadC DIARE
4 HadB D3IRE
Options :
22742794529. 1
22742794530. 2
22742794531. 3

22742794532. 4

Question Number : 109 Question Id : 22742724263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Books Authored by M.S. Rajan include:-

A Nonalignment and Nonaligned Movement: Retrospects and Prospects
B. India and International Affairs: A Collection of Essays

C. World Order and United Nations

D. India and Commonwealth

E. India and the United Nations: Interplay of Interests and Principles
Choose the most appropriate answer from the given below:

1. AB,C,D only
2. B,C.E,D only
3. AB,D,E only
4 A CD.E only

Options :

22742794533, 1
22742794534. 2
22742794535. 3

22742794536. 4

Question Number : 109 Question Id : 22742724263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. 3fear Us draN
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2 feu 7T fAeedl § © 8! SR &1 994 Bift-

1. ®adA B, C 3R D
2 ®dd B, C E3RD
3 ®dd A B, D3RE
4 HAAA C DIIRE

Options :

22742794533, 1
22742794534. 2
22742794535. 3
22742794536. 4

Question Number : 110 Question Id : 22742724264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the developments in medical sciences were proved useful during the second world war?
A_ Penicillin

B. Blood Plasma

C. Stem Cell treatment

D.DDT

E. Morphine Syrette

Choose the most appropriate answer from the given below:

1.AB,C,D only
2.ACD.E only
3.AB,DE only
4 B,CD,E only

Options :

22742794537. 1
22742794538. 2
22742794539. 3

22742794540. 4

Question Number : 110 Question Id : 22742724264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. =15 WilaH

C. %H Ud 3UER
D. Siald
E_Aiftha fiae

= fET 7T fadedl & 9 I8! SR &1 997 BIeL-

1. ®ddA B, C3R D
2. BAdA C D IRE
3. @A B, D 3R E
4 HAAB. C. D IRE
Options :
22742794537. 1
22742794538, 2
22742794539. 3

22742794540. 4

Question Number : 111 Question Id : 22742724265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ldentify instruments adopted by the United Nations to counter the Terrorism.
A_Anti- Terrorism Declaration 1994

B. International Asian Convention on Insurgency

C. Terrorist Bombing convention

D. Terrorist Financing convention

E. Terrorist nuclear convention

Choose the most appropriate answer from the given below:

1. AB,C,D only
2.B,C.D.E only
3. A.C.D.E only
4 A B,D,E only

Options :

22742794541, 1
22742794542. 2
22742794543. 3

22742794544, 4

Question Number : 111 Question Id : 22742724265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C. 3fddmarg] Marer! AHHgag (H-93H)

D. 3fid@ara! faaum g (G43mH)

E. fddadre] QUG 9y (G-99H)
i feu T gl & © U8t 3R &1 994 Pifore-

1. ®ddA, B, C 3R D
2 $adB, C, D3IRE
3 BadA C D3IRE
4 HAdA B D IARE

Options :

22742794541, 1
22742794542. 2
22742794543, 3
22742794544. 4

Question Number : 112 Question Id : 22742724266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are fundamental principles of the United Nations-
A Sovereign equality of all member states.

B. To raise a permanent UN armed force as part of NATO

C. Non-intervention in domestic jurisdiction.

D. Peaceful settlement of disputes.

E. To maintain international peace and security

Choose the most appropriate answer from the given below:

1. AB,C,E only
2. AB,C.D Only
3. B,C.E,D only
4 A CD.E only

Options :

22742794545, 1
22742794546. 2
22742794547. 3
22742794548. 4

Question Number : 112 Question Id : 22742724266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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E. RIS Qifd 3R YRET S TG

=t fau U fadbedl & 4 U1 IR &1 99 Bl

1. ®adA B, CIRE
2 ®dd A B, C 3R D
3 ®ddB C DIIRE
4 HAAA C DIIRE

Options :

22742794545, 1
22742794546. 2
22742794547. 3

22742794548. 4

Question Number : 113 Question Id : 22742724267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



India participated in following UN peace keeping missions:-
A. UN Emergency Force |

B. UN Operation in Congo

C. UN Peace mission in Australia.

D. UN Mission for Justice in Haiti

E. UN Mission in Kosovo.

Choose the most appropriate answer from the given below:

1. AB,C,D only
2. AB,D,E only
3. B,C.,D.E only
4 AB,CE only

Options :

22742794549. 1
22742794550. 2
22742794551. 3

22742794552. 4

Question Number : 113 Question Id : 22742724267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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g feu U fowedl & ¥ 981 STk &1 99 Difot-

1. ®adA B, C 3R D
2 ®dd A B, D3RE
3 ®ddB C DIIRE
4 HdAA B, C3IHRE

Options :

22742794549. 1
22742794550. 2
22742794551. 3

22742794552. 4

Question Number : 114 Question Id : 22742724268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which principles are part of India’s Nuclear Doctrine?

A_ Credible minimum Deterrence

B. Sell and transfer of Nuclear weapons and technology.

C. Attacks can only be authorised by the civilian political leadership.
D. No first use

E. No use against non-nuclear weapon states.

Choose the most appropriate answer from the given below:

1. A,C.D.E only
2. AB,C,D only
3. B,C.,D.E only
4 A B,D,E only

Options :

22742794553, 1
22742794554. 2
22742794555. 3
22742794556. 4

Question Number : 114 Question Id : 22742724268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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J feu 7o faeegl § ° 921 3R &1 999 St

1. ®ad A C D3RE
2 ®add A B, C 3R D
3 ®ddB C DIIRE
4 HddA B, D3IRE

Options :

22742794553, 1
22742794554. 2
22742794555. 3

22742794556. 4

Question Number : 115 Question Id : 22742724269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Following statements about Sun Tzu- are correct -

A He was a Chinese thinker

B. He authored book The Art of War’

C. He is regarded as a realist.

D. He refuted Confucius's perspective on war

E. In the last days of his life, he become a Priest.

Choose the most appropriate answer from the given below:

1. B,C.D.E only
2. A.CD.E only
3. AB,D,E only
4 AB,C,D only

Options :

22742794557. 1
22742794558. 2
22742794559. 3

22742794560. 4

Question Number : 115 Question Id : 22742724269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. 39§ 3¢ 3P aR G fora!
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Ji feu 7o faeegl § 9 981 3R &1 999 Sifeu

1. ®adB, C, D 3RE
2 ®dd A C DIRE
3 ®dd A B, D3RE
4 HIAA B, C3HRD

Options :

22742794557. 1
22742794558. 2
22742794559. 3

22742794560. 4

Question Number : 116 Question Id : 22742724270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List |l

List | List 1l
Author Book
A_ Hans Morgenthau |I. Indian Foreign Policy Ambition and Transition

B. Cheris Ogden II. Principles of World Politics

C. George Modelski |lll. Leadership in Communist China

D. John Wilson Lewis|lV. Politics among Nations: The Struggle for Power and Peace
Choose the correct answer from the options given below:

1. Al B-ll, C-I, DIV
2. All, B-IV, C-ll, DI
3. Al B-IV, C-Il, D-lI
4 AV, B-I, C-lI, D-lI
Options :
22742794561. 1
22742794562. 2
22742794563. 3

22742794564. 4

Question Number : 116 Question Id : 22742724270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. Wi fea afeg|v. aifafces giT A9E: [ T a &R g Us Ui"
-Id feu e fqmedl § 9§ 981 3R &l 99+ dife-

1. Al B-lIl, C-l, DIV
2. Al B-IV, C-lI, D-
3. A, B-IV, C-lII, D-II
4. AV, B-l, C-lI, DI




Options :

22742794561. 1
22742794562 2
22742794563. 3
22742794564. 4

Question Number : 117 Question Id : 22742724271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List I

List | List Il

Author Book

A. Jagdish Bhagwati|l. A Fate Worse than Debt

B. Susan George  [Il. In Defense of Globalisation
C. Jaffrey Sachs  |lll. Development as Freedom
D. Amartya Sen V. The End of Poverty

Choose the correct answer from the options given below:

1. Alll, B-IV, C-1, D-lI
2. AV, B-lll, C-ll, D-I
3. Al B-1, CIV, DI
4 Al B-ll, Cll, DIV
Options :
22742794565. 1
22742794566. 2
22742794567. 3

22742794568. 4

Question Number : 117 Question Id : 22742724271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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i feu U fadedl § © Tt 3R &1 9a oIl

1. A-lll, B-1V, C-1. D- Il
2 AV, B, C-Il. D-l
3. Al B-l, C-IV, DIl
4 AJ B-Il, C-lIl, D-IV

Options :

22742794565. 1
22742794566. 2
22742794567. 3
22742794568. 4

Question Number : 118 Question Id : 22742724272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List Il

List | List Il

Major International Human Rights Documents Enactment year
A. Universal Declaration of Human Rights l. 1950

B. European Convention on Human Rights Il. 1966

C. International Covenants on Civil and Political Rights [11.1581

D. Convention on the Elimination of all Forms of Discrimination against Women_|IV. 1948

Choose the correct answer from the options given below:

1. A-l, B-IV, C-lII, D-lI
2. AV, B-I, C-Il, D-lII
3. All, B-ll, G-, DIV
4. All, B-Il, G-IV, D-|



Options :

22742794569. 1
22742794570. 2
22742794571. 3

22742794572. 4

Question Number : 118 Question Id : 22742724272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. SeiBTT g sifUsR ST 1. 1950
B. T AFE H9aR sftaay Il 1966
C. A 3R oo HiERT § Safis Sfaxipig wfdar | 1981
D. AigTsl & foFs T4 PR & HaHIG & o+ W ATHTHT|IV. 1948

=10 fGu U f[ddeal § ° 8! 9Tk &1 994 DIt

1. A, B-IV, C-lII, D-lI
2. AV, B-I, C-II, D-lI
3. Al B, C, DIV
4. Al B-Il, C-IV, D-I
Options :
22742794569. 1
22742794570. 2
22742794571. 3

22742794572. 4

Question Number : 119 Question Id : 22742724273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List |l

List | List I

Leaders Country

A Abdel Fattah EI-Sisi|l. Bangladesh

B. Sheikh Hasina l. Egypt

C. Bongbong Marcos |lll. Finland

D. Petteri Orgo I'V. The Phillippines

Choose the correct answer from the options given below:

1. Al B-l, C-IV, D-Ill
2. Al B-ll, CIl, DIV
3. All, B-IV, C-l, D-lI
4 AV, B-lll, C-ll, D-I
Options :
22742794573 1
22742794574. 2
22742794575. 3

22742794576. 4

Question Number : 119 Question Id : 22742724273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G-l & G1Y GAi-1l @l HdH St

Gl -l

=ar GLy|

A. 55T e Tl STeE
B. B g4l 1=

C. SFTEIT ATE g . feels
D. Uest STt v, foeeidig

4 feu U fadedl § © Tt 3o &1 9a4 difod

1. All, B-l, C-IV, D-IlI
2. A, B-l, G-Il DIV
3. Al B-IV, C-1, D-II
4. AV, B-lII, C-lI, D-l



Options :

22742794573. 1
22742794574, 2
22742794575, 3

22742794576. 4

Question Number : 120 Question Id : 22742724274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List I

List | List I

Regional organization Year of Establishment
A African Union |. 1988

B. Arab Maghreb Union 1. 1994

C. South African Development Community|lll. 2002

D. Morth American Free Trade Agreement |V, 1992
Choose the correct answer from the options given below:

1. All, B-IV, C-1, D-lI
2. AV, B-Il, C-lIl, D-I
3. Al B-I, C-IV, D-lI
4. Al B-lll, C-ll, DIV
Options :
22742794577. 1
22742794578. 2
22742794579. 3

22742794580. 4

Question Number : 120 Question Id : 22742724274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-l & 91y Gdi-1l &1 iaq S

-l -l

&g e T T

A 3bidH T . 1988

B. 3 HuYd g Il. 1994

C. gi&m spie! fdere 9 lIl. 2002

D. IO SNt Hod SR GHSEN|V. 1992

T feu U fadedl € © Tt 3o &1 9a il

1. Al B-IV, C-1, D-Ill
2. AV, B-Il, C-lIl, D-I
3. Al B-I, C-IV, D-lI
4. Al B-lll, C-ll, DIV
Options :
22742794577. 1
22742794578. 2
22742794579. 3

22742794580. 4

Question Number : 121 Question Id : 22742724275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List |l

List | List Il
International Aggression Year
A. Germany's invasion of Belgium |l 1937

B. Nazi Germany’s invasion of Poland|ll. 1914

C. Japan invasion of China . 1979

D. The Soviet invasion of Afghanistan |IV. 1939

Choose the correct answer from the options given below:

1. A, B-llI, C-IV, D-lI
2. Al B, C-II, DIV
3. Al B-IV, C-1, DA
4. AV, B-ll, C-lII, D-l



Options :

22742794581. 1
22742794582, 2
22742794583. 3
22742794584. 4

Question Number : 121 Question Id : 22742724275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i1 & 91y Il @1 FHaH DI

i Al

A. srdifeae et g1 sfeaa o) . 1937
B. T WHAT ST U0 O HIEHET Il 1914
C. TT9H T I 9T 3THHT I1l. 1979
D. Sifdad 99 %1 AH-EaH UL SHRHE|IV. 1939

T feu U fadedl § © Tt 3R &1 9a difeil-

1. A, B-lll, C-1V, D-lI
2. All, B-l, C-ll, DIV
3. A-ll, B-IV, C-I, D-lI
4 AV, B-Il, C-lIl, D-I
Options :
22742794581. 1
22742794582. 2
22742794583. 3

22742794584. 4

Question Number : 122 Question Id : 22742724276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List |l

List | List I
MNuclear Blasts| Year
A. China l. 1998
B. India II. 1964
C. Pakistan  |lll. 1960
D. France V. 1974

Choose the correct answer from the options given below:

1. A, B-lll, C-1V, D-lI
2. All, B-l, C-Il, D-IV
3. AV, B-Il, C-lIl, DI
4. A-ll, B-IV, C-1, D-lI
Options :
22742794585. 1
22742794586. 2
22742794587. 3

22742794588. 4

Question Number : 122 Question Id : 22742724276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G-l & G1Y GAi-1l @l HdH St

Tl i8]
TS g GeEiead

A T . 1998
B. 4G 1. 1964
C. gifes=  |I11.1960
D. %iE V. 1974

LT et S E e e S

1. Ad. B-lll, C-IV, DIl
2 Adll, Bl C-II, D-IV
3. AV, Bl C-Ill, Dl
4 AJl B-IV. C-1. D-llI



Options :

22742794585. 1
22742794586. 2
22742794587. 3
22742794588. 4

Question Number : 123 Question Id : 22742724277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List I

List | List Il
UN Specialized Agencies Year of Establishment|
A. World Health Organization . 1945

B. Food and Agriculture Organisation (Il 1945

C. International Labour Organisation  [Ill. 1957

D. International Atomic Energy Agency|lv. 1919
Choose the correct answer from the options given below:

1. Al B-l, C-IV, D-Ill
2. Al B-ll, CIl, DIV
3. All, B-IV, C-l, D-lI
4 AV, B-lll, C-ll, D-I
Options :
22742794589. 1
22742794590. 2
22742794591. 3

22742794592. 4

Question Number : 123 Question Id : 22742724277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o

-l & 91y Gdi-1l &1 iaq S

-l -l
Hga Y &1 Q8N Tl 3y
A oy areg T . 1945
B. G R FY Waa 1. 1948
C. SHeRIFTT 98 Wea 111.1957
D. SfaRifia uRmm] Sul goldt IV 1919

=T U 7T fodedl | § Gl S &1 999 Jiteg:

1. Al B-l, C-IV, D-Ill
2. Al B-ll, CIl, DIV
3. All, B-IV, C-l, D-lI
4 AV, B-lll, C-ll, D-I
Options :
22742794589. 1
22742794590. 2
22742794591. 3

22742794592. 4

Question Number : 124 Question Id : 22742724278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match list | with List |l

List | List Il

Organisation Year of Establishment|
A. World Bank I. 1966

B. The European Bank for the Reconstruction and Development|ll. 1944

C. Asian Development Bank . 1995

D. World Trade Organisation V. 1981

Choose the correct answer from the options given below:

1. Al B-lII, C-ll, DIV
2. Al B, C-IV, D-lI
3. Al B-IV, C-1, DA
4. AV, B-ll, C-lII, D-l



Options :

22742794593, 1
22742794594, 2
22742794595, 3
22742794596. 4

Question Number : 124 Question Id : 22742724278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-l & 91y Gdi-1l &1 iaq S

i Giial
SUGREH T Y
A By s I. 1966
B. g gAFHT 3R fa@Ts d|I1. 1944
C. uEmms e i 11.1995
D. fay souR e IV. 1991

Hid fu 70 [ddedl § 9 Ual 3wk &l 994 Difelg

1. Al B-1ll, C-1l, D-IV
2 A-1ll, B-I, C- IV, D-1I
3. Al B-IV, C-I, D-1I
4 A1V, B-ll, C-1II, DI
Options :
22742794593, 1
22742794594, 2
22742794595, 3

22742794596. 4

Question Number : 125 Question Id : 22742724279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List |l

List | List Il
Cold War Event Year

A. Cuban Missile Crisis I. 1949
B. Soviets test Atomic Bomb Il. 1965
C. United States begins large-scale intervention in Vietnam(lll. 1962
D. Germany reunified . 1990

Choose the correct answer from the options given below:

1. Al B-IV, C-1, D-Ill
2. AV, B-Il, C-lIl, D-I
3. All, B-l, C-ll, DIV
4 Al B-lll, C-IV, D-lI
Options :
22742794597. 1
22742794598. 2
22742794599. 3

22742794600. 4

Question Number : 125 Question Id : 22742724279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tai—| & 1Y G-Il DT HeH Hifee

-l -l
=fiags & geamH Ty

A e e g . 1949
B. HIfTd Y TRT GTHIY] TRIA Il. 1965
C. Hgad ¥ §RI fagaa ¥ 58 UHH S8 B HTd|lll. 1962
D. T &1 Ui IV. 1990
4 feu U fadedl § © Tt 3o &1 9a difod

1. Al B-IV, C-l, D- 11
2. AV, Bl C-IL, D
3. Al B, C-II, D-IV
4 A, B-I, C-IV, D-lI



Options :

22742794597. 1
22742794598. 2
22742794599. 3

22742794600. 4

Question Number : 126 Question Id : 22742724280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following events related to the Arab-Israeli conflict in chronological order -

A. The Balfour Declaration

B. The UN partition plan proposes the creation of Arab and Jewish States in Palestine rejected by the Arabs

C. Israel defeats Egypt and Syria in the Yom Kipper War, after a surprise joint attack on the Jewish day of fasting
D. The Guif war involves Iraqi missile attack on Israeli cities and Israel's nuclear facilities

E. The Second Intifada marks a resurgence of Palestinian protest and militancy

Choose the most appropriate answer from the given below:

1.ABCDE
2BACED
J ACBDE
4 BCAED

Options :

22742794601. 1
22742794602. 2
22742794603. 3

22742794604. 4

Question Number : 126 Question Id : 22742724280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

RG-S G U e e g3l @l BIeshH & R oGdid Bifg

A STGR T

B. e g faror g T # o 3R 9] 3wa & o o1 e fovw 7 o okl rdioR e fen
C. HBID HHHY o 616 JoRIga, TG I  Tgical & SUa arel it i o Ui I GRiferd @l €

D. W1 G gt R SR STt QoA fdraft o ! g 4 g fova

E. fadia gdiwrer @ fpferedi fodly ok Teid i & Gowiia] o T8 aidl &

A fou 7 faedl 9 W) T 1 I Biog:

1.ABCDE
2BACED
3ACBDE

4 BCAED
Options :
22742794601. 1
22742794602. 2
22742794603. 3

22742794604. 4

Question Number : 127 Question Id : 22742724281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following events related to the history of the United Nations in chronological order
A_ Security Council approves military action in Korea

B. First UN Peace Keeping Force sent to the Suez Canal

C. UN Peace Keeping Force sent to Cyprus

D. People’s Republic China replaces the Republic of China (Taiwan) at the UN Security Council
E. International Criminal Court {(ICC) established

Choose the most appropriate answer from the given below:

1.ABCED
2 BCADE
3 ABCDE
4 BACED

Options :

22742794605. 1
22742794606. 2
22742794607. 3

22742794608. 4

Question Number : 127 Question Id : 22742724281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[ /- e

g AY & 3fderd ¥ I FEfcRad gesi & SrawH & SfHR Haiyd BT

A R4 URYE g1 BIRGT H 879 $RATS &1 HHIeH

B. UyH g4, ¥ifd RIUT A a1 B &1 Wl T8 db Uil o1

C. UG ¥ R FIEVE H i WU 3 drell 1 B 4ol

D. ¥ga ¥ GR&M uRue H I SHard] TR gRT 91 TURTS (AI5dH) BT &Y Tl

E. 3P SIfa gy &1 e
= fGu U [a@eal § 9 U8 IR &1 994 Bifeg

1. AB,CED
2 BCADE
3.AB,CD,E
4 BACED

Options :

22742794605. 1
22742794606. 2
22742794607. 3
22742794608. 4

Question Number : 128 Question Id : 22742724282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the Prime Ministers of Pakistan in chronological order:
A Liaquat Ali Khan

B. Benazir Bhutto

C. Nawaz Sharif

D. Mohammad Khan Junejo

E.Raja Pervej Ashraf

Choose the most appropriate answer from the given below:

1. D,AB,EC
2 ABD,CE
3.ADB,CE
4 DAB,CE

Options :

227427946009. 1
22742794610. 2
22742794611. 3
22742794612. 4

Question Number : 128 Question Id : 22742724282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U= & WU S BIcwd & HTUR Haiedd Hiferl-

A Torarad fcll |H
B. STSIR Hgl

C. Jar TRIH

D. AlEHE T o]

E I6 JiaS HENH

1 feu U fadedl | ¥ Tl IR &1 907 B

1. D,AB,EC
2 ABD,CE
3.ADB,CE
4 DAB,CE

Options :

227427946009. 1
22742794610. 2
22742794611. 3

22742794612. 4

Question Number : 129 Question Id : 22742724283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following countries who have detonated their nuclear weapon in chronological order
A United States of America

B. Soviet Union

C. China

D. France

E. India

Choose the most appropriate answer from the given below:

1.ABD CE
2BADEC
JADBCE
4 BDACE

Options :

22742794613. 1
22742794614. 2
22742794615. 3

22742794616. 4

Question Number : 129 Question Id : 22742724283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U WA ] &1 faspie - ard Fufafad S &) SIamd & HT9R aieyd ifag

A. TG T AR
B. Wifdyd ¥4

C T

D. ®ig

E. HRd

4 feu e fowedl § 9 951 SR &1 997 Pifvie

1.A,B,D,C,E
2 BADECG
3AD,B,CE
4 B,D,ACE

Options :

22742794613. 1
22742794614. 2
22742794615. 3

22742794616. 4

Question Number : 130 Question Id : 22742724284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange major environmental initiative in chronological order -
A Antarciic Treaty

B. United Nations Conference on the Human environment in Stockholm which laid the foundation for environmental action at an international
level

C. Vienna Gonvention for the Protection of the Ozone Layer

D. Brundtiand Commission Report which highlighted the idea of Sustainable Development

E. The UN Climate Change Conference, commonly known as Copenhegen Summit convened to formulate & succession to the Kyoto Protocol
Choose the most appropriate answer from the given below;

1.BADEC
2ABEDC
JEABCD
4 ABCDE

Options :

22742794617. 1
22742794618. 2
22742794619. 3

22742794620. 4

Question Number : 130 Question Id : 22742724284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TG TR T3 3 I 6 S e GG

A 3rTien Y

B, TEgIH A ARG UteRe e e et i o e e g @ o v 7@
C. I T & SR o ) e

D. s S 1 R o e o o o e f

E. 0] IETBI & a1 R e g e T e 1 ey ¥t et o S R 1T R et o v o
T oo e 9 06} SR @ 9 i

1.BADEC
2ABEDC
JEABCD
4 ABCDE

Options :

22742794617. 1
22742794618. 2
22742794619. 3

22742794620. 4

Question Number : 131 Question Id : 22742724285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the regional organisation in terms of their order of total number of members in descending order.
A Airican Union

B. Organsation of American States

C. Asia-Pacific Economic Cooperation

D. South Asian Association for Regional Cooperation

E. North American Free Trade Agreement

Choose the correct option:

1.ADECB
2BCDEA
JABCDE
4 BADCE

Options :

22742794621. 1
22742794622. 2
22742794623. 3
22742794624. 4

Question Number : 131 Question Id : 22742724285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



LW ey

o0 Tadl @ T @ 2 I &0 I+ 3 3aiiel HH & AJ9R ogaiyd DI
A 3RTH] TY (ARIDHT ZHFEE)

B. HR®! o] BT W

C. Ufr u=iia onffe TeaT

D. Ti&m URRErE &g geanT e

E. 3t 3AR®! Had AR TR

Hid feu e fomedl & 9 O5! SR &1 994 Bifuig:

1.ADEC,B
2 B,CDEA
3.A,B,CDE
4 BA,D,CE

Options :

22742794621. 1
22742794622. 2
22742794623. 3

22742794624. 4

Question Number : 132 Question Id : 22742724286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the GATT/ WTO Negotiation rounds in chronological order

A Second GATT round held at Annecy, France

B. Fourth GATT round held at Geneva, Switzerland

C. Kennedy Round-achieves tariff cut worth 540 trillion of world trade

D. Tokyo Round-achieves tariff reductions worth more than $300 trillion and reduction in non-tariff barriers
E. Doha Round launched by the WTO.

Choose the most appropriate answer from the given below:

1.ABCDE
2ABDCE
J BACDE
4 BDECA

Options :

22742794625. 1
22742794626. 2
22742794627. 3

22742794628. 4

Question Number : 132 Question Id : 22742724286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



L e

SHUSTeT (GATT) Saeg 21 3 (WTO) aTdi GRI &l BT & HTUR Hdyd Hiforg

A T 19 & 3iford Seelel (fie) &1 Gal aR
B. SHal Raeeds # A™ifad o ¢ & (fIe) &1 AT R

C. Bel GR (199)- fay 3R & 40 R & Toas Ue® o @eldl
D. Tied! SR-URe® | 300 fAfema U offtie & ol &t 13 ok TR w=led ey o & g3

E. TIg1 &R, S&g. .31 5N & foban
4 feu U fadedl § °§ 9 SR &1 999 Bifag:

1.AB,C,D,E
2 A BDCE
J.B,ACD,E
4 B,D,E,C A

Options :

22742794625. 1
22742794626. 2
22742794627.3
22742794628. 4

Question Number : 133 Question Id : 22742724287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the American Presidents in chronological order:-
A. Donald Trump

B. Ronald Reagan

C. John F. Kennedy

D. Bill Clinton

E. Richard Nixon

Choose the most appropriate answer from the given below:

1. AB,CD,E
2. CEBDA
3.B,CDEA
4 ECBAD

Options :

22742794629. 1
22742794630. 2
22742794631. 3
22742794632. 4

Question Number : 133 Question Id : 22742724287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SAR®! AFUTIT B DICHH & HTIR AT DI
A SHItS ¢U
e

C. 9 U% B3]
D. fad facieq
E. T8 e

1 feu U fadedl | ¥ Tl IR &1 907 B

1.A,B,C,DE
2 C EB,DA
3.B,C,DEA
4 E,C,B,AD

Options :

22742794629. 1
22742794630. 2
22742794631. 3
22742794632. 4

Question Number : 134 Question Id : 22742724288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the Philosophers who have contributed to Polifical Science Intenational Relation theories in chorological order -
A Plato

B. Aristotle

C. Thomas Hobbes

D. Jean- Jacques Rousseau

E. Immanuel Kant

Choose the most appropriate answer from the given below:

1.ACDBE
2BCAED
3.ABDCE
4 ABCDE

Options :

22742794633. 1
22742794634. 2
22742794635. 3

22742794636. 4

Question Number : 134 Question Id : 22742724288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oIt famT/eieRigTa St fieia # OMeH B3 91 GRIFS! &1 UgdH SlawA & 38R BIfT
A el

B. 3RE,

D. SiF Sg 4l

E g dhe

i feu T fawedl § § 81 SR @ 997 S

1.A,C,D,B E
2.B,CAED
3 ABDCE
4 A BCDE

Options :

22742794633. 1
22742794634. 2
22742794635. 3

22742794636. 4

Question Number : 135 Question Id : 22742724289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the countries of Central Asian Republics in ascending order of the Geographical area -
A Tajikistan

B. Uzbekistan

C. Turkmenistan

D. Kirgizstan

E. Kazakhstan

Choose the most appropriate answer from the given below:

1.BCDEA
2.CDBEA
3. ADBCE
4 DACBE

Options :

22742794637. 1
22742794638. 2
22742794639. 3

22742794640. 4

Question Number : 135 Question Id : 22742724289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I &7 & HRIe] A H A URIGTR TURTSY G &1 UgdH Bifeig:
A difoifder

B. Ielafhei

C. A

D. foprifem

E. Sl

T f&u 7Te fgdedl # 9 U5l 3R &1 909 DI

1.B,C,D,E A
2 C DB EA
3AD,B,CE
4 DA CBE

Options :

22742794637. 1
22742794638. 2
22742794639. 3
22742794640. 4

Question Number : 136 Question Id : 22742724290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statement: one is labelled as Assertion A and the other is labelled as reason R

Assertion A: Upayas is also known as Chanakya-Niti that explains Saam, Daam, Bhed and Dand.

Reason R: Upayas is associated with Six-fold theory that explains Sandhi, Vigrah, Aasan, Samashray and Dvaidi bhaav.
In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Aand R are correct and R is the correct explanation of A.

2. Both Aand R are correct but R is Not the correct explanation of A.
3. As correct but R is not correct

4 Ais not correct but R is correct

Options:



22742794641.1
22742794642. 2
22742794643. 3

22742794644. 4

Question Number : 136 Question Id : 22742724290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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S A JUTETY B A0 il B8 el & [ored 91, G, 4G 3R &8 @) e B S 6

HRU R: S V-G (Te W) (Haid ¢ fogd Y, e, S, gy 3R §Y Wid 1 a0 &

JWITd HYE o el 5, i U 0 faded! ¥ 4 el S0 IR @l 9 Do

1. AR R SHl Ui & IR R, ADI 9g) o4 §

2 A¥R R Wg1 8 Wi R A1 WE| TS F51 &
3 ATE S O R W TR

4 ATE TR AR TR

Options :

22742794641, 1

22742794642. 2

22742794643 3

22742794644. 4

Question Number : 137 Question Id : 22742724291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statement: one Is labelled as Assertion A and the other s abelled as reason R

Assertion A: Global governance is a broad, dynamic and complex process of interactive decision making at global leve! that involves formal
and informal mechanisms as well as governmental and non-govemmental bodies.

Reason R: The United States of America is the fundamental organisation that is responsible for global govenance, peace and development
In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Aand R are comect and R is the correct explanation of A.

2. Both Aand R are comect but R is Not the correct explanation of A
3. Als correct but R is not correct

4 Ais not correct but R is correct

Options :

22742794645. 1
22742794646. 2
22742794647. 3
22742794648. 4

Question Number : 137 Question Id : 22742724291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 3 B RUTU S, T A (Asserton A) & 0 ¥ i & o X1 99 BV (Reason R) 3 &4 &
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Options:
22742794645. 1
22742794646. 2



22742794647. 3
22742794648. 4

Question Number : 138 Question Id : 22742724292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statement: one Is labelled as Assertion A and the other s abelled as reason R

Assertion A: In the first exposttion of theory of foreign policy Kautilya divides states into two groups; the first two circles of states- the hostile ones
and the friendly ones.

Reason R: Mantra Yuddna was the essence of Circle of State concept of Kautitya. According to Circle of State, a king has to follow only Mantra
Yuddha to win an open war with enemy.

In the light of the above statements, choose the most appropriate answer from the options givan below.

1. Both Aand R are comect and R s the correct explanation of A

2. Both Aand R are comect but R is Not the correct explanation of A
3. Al correct but R is not correct

4 Ais not correct but R s correct

Options:

22742794649. 1
22742794650. 2
22742794651.3

22742794652. 4

Question Number : 138 Question Id : 22742724292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794649. 1
22742794650. 2
22742794651. 3

22742794652. 4

Question Number : 139 Question Id : 22742724293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given are two statements:

Statement |: Chhatrapati Shivajl Maharaj killed Afzal Khan and acting swiftly captured Panhala fort within eighteen days of defeat and death of
Aizal Khan

Statement [1; Learning about the death of Afzal Khan, Adil Khan Shah decided to aftack Shivaji. He planned attack under the leadership of Fazal
Khan and Rustam Zaman. Fazal Khan, son of Afzal Khan waited for the opportunity. When Fazal's troops reached Kolhapur the Maratha froops
attacked first and routed Adil Shan's army.

In the light of the above statements, choose the most appropriate answer from the options givan below.

1. Both Statement (1) and Statement (1) are true.
2. Both Statement (1) and Statement (1l) are false.
3. Statement (1) s true but Statement (Il is false.
4 Statement (1) is false but Statement (1) s true.

Options:



22742794653. 1
22742794654. 2
22742794655. 3

22742794656. 4

Question Number : 139 Question Id : 22742724293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794653. 1

22742794654, 2

22742794655. 3

22742794656. 4

Question Number : 140 Question Id : 22742724294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven are two statements:

Statement |: Sardar Patel informed Mountbatten , ‘I have authentic information that the recent activities of [ttehad-ul-Mussaimeen are designed
o create a feeling of terror among non-muslim population, so that its agitation in favour of the independence of Hyderabad, with possible alliance
with Pakistan, should flourish”

Statement II: According to Monckton, an agresment of “association”, as opposed to “accession”, meant that ‘a treaty or agreement short of
accession, preserves independence in law, where &s, accession destroys it and involves merger of organic union. eg. |f Pakistan and Hyderabad
grow strong enough, the treaty can be denounced.”

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both statement | and Statement |l are correct

2 Both Statement | and Statement Il are incomect

3. Statement | is correct but Statement Il is incorrect
4 Statement | is incorrect but Statement is corect

Options :

22742794657. 1
22742794658. 2
22742794659. 3
22742794660. 4

Question Number : 140 Question Id : 22742724294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742794657. 1
22742794658. 2
227427946509. 3

22742794660. 4

Sub-Section Number : 2
Sub-Section Id : 227427950
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742724295 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following Passage and answer the questions
Annexation of Indian States by British Empire

Indian states gradually became part of British Empire in India with sanads being granted to the rulers. The next five decades were occupied with
e task of evolving a machinery for controlling the States. A Poltical Deparimant was set up under the direct charge of the Governor General.
had at its disposal a senvice called the 'Indian Poltical Services' manned by officers taken from Indian Civil Service and the Army It had a palice
force which was maintained partly by the revenues of the central Government and partly by contributions made by the States. The Political
Depariment had Residents and Poltical Agents in all important States and Groups of States. The Secretary of State kept a close control over the
aciivities of the Political Depariment, mainly because of the interest of the Crown in matters affecting the rights and privileges of the rulers.

Sub questions

Question Number : 141 Question Id : 22742724296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Grant of was one of the vital factors to establish British Empire in India:-

1. Victory

2. Sanads

3. Employment of hard power
4 Independence

Options :

22742794661. 1
22742794662. 2
22742794663. 3

22742794664. 4

Question Number : 142 Question Id : 22742724297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



How many decades did it take British Empire to evolve a machinery for controlling Indian States?

. Four
ve
X
even

e b

oM

4

[y

Options :

22742794665. 1
22742794666. 2
22742794667. 3
22742794668. 4

Question Number : 143 Question Id : 22742724298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which department was set up under the Governor General to control Indian States?

1. Political Department
2 Sanads

3. Secretary of States
- Prince Crown

P

Options :

22742794669. 1
22742794670. 2
22742794671. 3

22742794672. 4

Question Number : 144 Question Id : 22742724299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which service was at the disposal of Governor General to set up Political Department?

1. Residents as agents

2. Indian Police service

3. Indian Political Service
4. Indian diplomatic Service
Options :

22742794673. 1
22742794674. 2
22742794675. 3

22742794676. 4

Question Number : 145 Question Id : 22742724300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who kept a close control over activities of the Political Department?

. Secretary of State
_Indian Army

_Indian Police service
- Political agents

[

o

Options :

22742794677. 1
22742794678. 2
22742794679. 3
22742794680. 4

Question Id : 22742724295 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 22742724296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
... O] WIPTd HRA H a2 GEeg $f ®IGHT 8 HedyUl RS H § T Ul

1. faog

2 Tel

3. TR Wiad &1 FaeH
4. Tl

Options :

22742794661. 1
22742794662. 2
22742794663. 3
22742794664. 4

Question Number : 142 Question Id : 22742724297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742794665. 1
22742794666. 2
22742794667. 3

22742794668. 4

Question Number : 143 Question Id : 22742724298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794669. 1
22742794670. 2
22742794671. 3

22742794672. 4

Question Number : 144 Question Id : 22742724299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794673. 1
22742794674. 2
22742794675. 3

22742794676. 4

Question Number : 145 Question Id : 22742724300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
sriiide faHIT &1 Tafafal W fég o1 ser g ur?

2 YR I9-9fg
3. YR gferg dar
4 oI Tole

Options :

22742794677. 1
22742794678. 2
22742794679. 3
22742794680. 4

Sub-Section Number : 3
Sub-Section Id : 227427951
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742724301 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following Passage and answer the questions
(-20 Declaration countering Terrorism

We condemn terrorism in all its form and manifestations, including those on the basis of xenophobia, racism and other forms of intolerance, or in
the name of religion or belief recognizing the commitment of all religions to peace. It constitutes one of the most serious threats to intemational
peace and security

We strongly condemn ll terorist acts against critical infrastructure, including critical energy faciliies and against all vulnerable targets. Al acts of
terrorism are criminal and unjustifiable, regardless of their motivation. Effective counter-terronsm measures, support for the victims of terrorism
and protection of human rights are not conflicting goals, but complementary and are/ mutually reinforcing. -

A holistic approach on the hass of international law can effectively counter the temorism. Efforts to increase the effectiveness of international
cooperation should be strengthened to deny terrorists groups safe haven, deny freedom of operations, movement and recruiment as well as
financial material or political support.

Sub questions

Question Number : 146 Question Id : 22742724302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(5-20 declaration on counter terrorism has not condemned terrorism on the basis of -

1. Xenophobia

2. Racism

3. Marxism

4 Any other form of intolerance

Options :

22742794681. 1
22742794682. 2
22742794683. 3

22742794684. 4



Question Number : 147 Question Id : 22742724303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-20 Declaration does not condemn all terrorists acts against -

1. Non critical infrastructure
2. Critical infrastructure

3. Critical energy Facilities
4 Vulnerable targets.

Options:

22742794685. 1
22742794686. 2
22742794687. 3

22742794688. 4

Question Number : 148 Question Id : 22742724304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A holistic approach on the basics of can effectively counter the terrorism:-

1. National Law

2 International Law

3. United MNations Economic collaborations
4. Non-inclusivity

Options :

22742794689. 1

22742794690. 2

22742794691. 3

22742794692. 4

Question Number : 149 Question Id : 22742724305 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which of the following does not strengthen effectiveness of economic cooperation against terrorism?

1. Deny terrorist groups safe haven.
2. Provide freedom of operation

3. Deny freedom of movement

4 Prevent financial support

Options :

22742794693. 1
22742794694, 2
22742794695. 3

22742794696. 4

Question Number : 150 Question Id : 22742724306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Terrorism has been considered as:-

1. Most serious threat to international peace and security.
2. No threat to international peace and security

3. Threat only trade by sea

4 India- Pakistan promotion policies.

Options:

22742794697. 1

22742794698. 2

22742794699. 3

22742794700. 4

Question Id : 22742724301 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742724302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742794681 1
22742794682. 2
22742794683. 3

22742794684. 4



Question Number : 147 Question Id : 22742724303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742794685. 1
22742794686. 2
22742794687. 3

22742794688. 4

Question Number : 148 Question Id : 22742724304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o O 3T PRI ST B ATdRalg &l I PRIR & ° [6a1 9 9%l &

3. TG Ty 3N g
4 TR-gAE
Options:

22742794689. 1
22742794690. 2
22742794691. 3

22742794692. 4



Question Number : 149 Question Id : 22742724305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fafead O oH-41 3dsdE & [3Eg ile Tear &1 SRR &1 o6 el Hdl 8?

1. HCPHATG! GHg! Pl QRIAR IR0 ™IS 9 &1
2 R I B WaFdr T

3. RS 9aH 9 A

4 e Temar AF

Options :

22742794693. 1
22742794694, 2
22742794695. 3

22742794696. 4

Question Number : 150 Question Id : 22742724306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742794697. 1
22742794698. 2
22742794699. 3

22742794700. 4



